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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOV. 2015
COST ACCOUNTING - |
(Paper - I)
(Revised Syllabus)

Time: 3 Hours] [Max. Marks: 80

Instructions : 1) Attempt questions according to internal choice in
each Section. ”
2) Give working notes wherever necessary.
3) Non-programmable calculator is allowed.
4) Question 13 (case study) is compulsory.

SECTION-A

1. Answer any ten of the following : (10x2=20)
a) What is cost accounting?
b) What is cost unit ? Give two examples.
c) What is direct material cost ? Give two examples.
d) State the components of prime cost.
e) Whatis EOQ-? How do you calculate it ?
f) Whatis purchase requisition ? |
g) Whatis Bin Card ?
h) State two essentials of a good wage plan.

[P.T.O.
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i) Whatis time rate system of wage payment ?
i) What are overheads ? Give two examples.
k) Whatis machine hour rate ?

[) Whatis idle time and overtime ?

SECTION-B
Answer any three of the following : (3x5=15)
2. What are the advantages of cost accounting to management ?

3. Calculate from the following information :
i) Maximum stock level
if) Minimum stock level.
Reorder period 4 to 6 days
Minimum usage 100 Kgs per day
Maximum usage 200 Kgs per day
ROQ - 1500 Kgs.

4. XLtd. provides you the following particulars.
Purchase of materials during August 2015 — Rs. 2,00,000
Opening stock (01-08-201 5) - Rs. 20,000
Closing stock (31-08-201 5) - Rs. 40,000

Find the material turnover ratio and express the same in days.
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5. Findout the earnings of workers A and B who have produced 70 and 90
units respectively in a day of 8 hours under Taylor’s differential piece
rate method.

Standard production : 10 units per hour

Normal time rate — Rs. 80 per hour

Differential rates are ,

Below standard — 80% of basic piece rate.

At and above standard — 120% of basic piece rate.

6. From the following particulars of Udyog Ltd., prepare cost sheet showing
cost per unit.

Direct material cost Rs. 5,00,000

Direct wages Rs. 3,00,000

Direct expenses Rs. 2,00,000

Factory overhead 50% of Direct wages

Administration overhead 10% of works cost

Selling overhead Rs. 5 per unit.

Units produced and sold 10000 units @ Rs. 150 per unit.

7. Findout the labour hour rate from the following :
a) Total number of opverators in the department — 100

b) Department works for 300 days in a year

d) Total departmental overhead Rs. 4,00,000

Idle time 40000 hours.

)
¢) 8 hours work in a day
)
e)
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SECTION-C

Answer any three of the following questions including question 13 which is
compulsory. ' (3x15=45)

8. Write short notes onany three :
a) Essentials of a good cost accounting system.
b) Purchase procedure.
c) Requisites ofa good wage plan.

d) Over absorption and under absorption of overhead.

9. Calculate the earnings of Mr. Vivek from the following under :
a) Timerate
b) Piece rate
c) Halsey plan and
d) Rowan plan.
Working hours per week — 48 hours
Normal wage rate per hour — Rs. 50
Standard time per piece -- 30 minutes

Actual output for the week — 112 units.
10. Write stores ledger using LIFO method of pricing the issues.

2015 August:
1 Opening stock — 400 units @ Rs. 25 p.u.
3 Issued—200 units
8 Purchased — 300 units @ Rs. 26 p.u.
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11.

10
14
17
20
o1
27
28
30
31

Issued — 200 units

Issued — 100 units

Purchased — 200 units @ Rs. 27 p.u.

Issued — 300 units |

Returned to vendors from goods purchased on 17th August 50 units
Purchased 500 units @ Rs. 28 p.u.

Issued — 300 units

Purchased — 300 units @ Rs. 30 p.u.

Issued — 300 units

On stock verification on 315t August a shortage of 10 units were found.

X Ltd. has three production departments A, B and C and two service
departments P and Q. Following particulars relate to August 2015.

Rs.
Rent 30,000
Electricity 4,800
Power 12,000
Canteen expenses 60,000
Indirect wages 12,000
Municipal taxes 10,000
Depreciation on plant 40,000
Other labour costs 20,000




1344-E01-VSC-R-N-15 <6 I O 0 0

Further information :

Particulars Total Production Depts.  Service Depts.

Rs. A B o P Q
Floor Area (Sq.ft) 10,000 2,000 2,500 3,000 2,000 500
Light points (Nos.) 480 80 120 160 80 40
Direct wages (Rs.) 8,000 2,400 1,600 2,400 1,200 400
HP of plants (HP) 300 120 60 100 20 -
Cost of plant 400 96 128 160 8 8
(Thousand Rupees)

Calculate Departmental overhead.

12. The following information relates to the year ended 31-03-2015

~ Rs.
Materials purchased 48,000
Direct wages 40,000
Stock (1-4-2014)
Materials 8,000
Finished goods (1600 units) 6,400
Stock (31-3-2015)
Materials 8,800
Finished goods (3200 units) 112,840

Works on cost 16,800
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Work-in-progress

On 1-4-2014 1,920
On 31-3-2015 6,400
Administration overhead 3,200
Sale of finished goods 1,20,000

Advertisement, discount allowed and selling cost is Re.1 per unit. During
the year 25600 units were produced. Calculate cost of production and
profit.

13. Case study (compulsory question) :

The stores ledger of a manufacturing company recorded for material
item P-4 for June 2015 the following information.

Receipts Balance
Date Quantity Ratep.u. Value Quantity Rate p.u. Value
units Rs. Rs. units Rs. Rs.
June 2015 .
1 - - - 100 2 200
10 200 2 400 300 2 600
15 300 4 1200 300 2 600
300 4 1,200
16 - - - 100 2 200
300 4 1,200
20 - - - 100 4 400
25 400 5 2,000 100 4 400
' 400 _ 5 2,000
28 - - - 200 5 1,000
29 - - - 50 5 250

1) State the method of pricing that was employed in the ledger.
2) Complete the stores ledger as per the method followed.

3) When this method is most suitable ?
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2015
(Revised)
Paper — 1 : INCOME TAX LAW & PRACTICE - |
Time : 3 Hours] [Max. Marks : 80

Instructions: 1) Answer all the questions with strict observation of
| inner choice in each Section.

' 2) Question 13 case study is compulsory.

3) Use of calculator is allowed.

4) Give working notes wherever it is necessary.

SECTION-A
1. Answerany ten from the following questions :
a) What is Total Income ?
b) Who is liable to pay income tax ?
¢) What do you mean by Previous Year ?
d) Who is a Not Ordinarily Resident Individual ?

e) What are the provisions of Section 10(10) for employees covered
under Payment of Gratuity Act 1972 ?

f) Who is a Specified Employee ?

g) Howdo you treat share of profit received from the firm by a partner ?
h) What is Perquisite ?

i) How do you treat more than one house used for self occupation ?

j) Whatis Net Annual Value ?

k) What is Profession ?

) What is Block of Assets ? | (10x2=20)

[P.T.O.
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SECTION-B

Answerany three of the following :

2. Mr. Prasad of Gadag left India for the first time to Spain on 01-01-2011
and came back to India on 01-01-2013. On 01-04- 2013, he went to
Germany and returned to India on 01-07-2013. He again went to England
on 01-07-2014. However, he returned to India on 15-01-2015 on service
in India.

What is his residential status for the Assessment Year 2015-16 ?

3. Smt. Geeta, who was working in a private company retired from service
on 30-06-2014 and received gratuity of Rs. 6,50,000. At the time of her
retirement, her average basic salary was Rs. 19,000 and dearness
allowance was Rs. 9,000 (50% of which was considered for retirement
benefits). She served for 34 years and 9 months. She is not covered
under Payment of Gratuity Act 1972.

Compute exempted and taxable gratuity for the A.Y. 2015-186.
4. From the information furnished below, Compute the taxable and exempted

House Rent Allowance of the following assessees for the previous year
ending 31-03-2015:

Particulars M of Mumbai N of Hubbali
4 4
Basic salary for the year 6,00,000 4,00,000
D.A. 2,00,000 1,00,000
HRA Received 1,60,000 80,000
Actual Rent Paid 72,000 Resides in his own house
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5. Smt. Vinaya is an employee in Nayak Industries Ltd. Hubbali. She
furnishes the following particulars for the previous year 2014-15:

a) Basic salary Rs. 6,000 per month.

b) Dearness Allowance Rs. 2,000 per month (Rs. 14,000 enters into
retirement benefits)

¢) She and her employer contribute 11.5% of salary to RPF.
d) Interest credited to RPF in excess of exempted limit is Rs. 1,420.
e) Profession Tax paid by employer on her behalf Rs. 100 per month.
Compute her income from salary for the A.Y. 2015-16.

6. Smt. Praveena started construction of the house at Karwar on 1-04-2011.
She took loan from Canara Bank on 1-07-2011 of Rs. 6,00,000 at the
rate of 14% p.a. interest. The construction was completed on 31-3-2014.

The house is let out on 1-04-2014 on a monthly rent of Rs. 7,000. She
paid municipal taxes of Rs. 6,000 during the previous year 2014-15.

Compute the income from house property for the A.Y. 2015-16 assuming
that she has not repaid principal amount so far.

7. Mr. Chandrashekar is carrying on agency business. During the previous
year 2014-15, he received the following commissions :

i) 5% commission on total sales of Rs. 8,50,000 from Kellogg's Corn
Flakes India Ltd.

i) 4% commission on total sales of Rs. 3,50,000 from Britania Industries Ltd.
iii) 6% commission on total sales of Rs. 12,00,000 from Pepsico India

Pvt. Ltd. :
The following expenses have been incurred by him :
Rs. Rs.
Rent of building 12,000 Donations 5,000
Wages to Labourers 8,000 Income tax 4,000
Sales Tax (VAT) 6,000 Printing and Stationery 7,000
Compute his income from business forthe A.Y. 2015 - 16. (3x5=15)
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SECTION-C

Question No. 13 is compulsory and Answer any two of the remaining
questions.

8. Mr. Raju of Myso'rerfurnishes the following particulars of his computed
income pertaining to the P.Y. 2014-15 -
a) Salary receivedin England for services rendered in Poona Rs. 50,000.

b) Profit from business in Bengaluru but the business is controlled from
Japan Rs. 1,00,000.

c) Dividend Received in NewYork from Indian Company Rs. 5,000.
d) Interest on bonds of Bank of England Rs. 20,000 received in London.

e) Income from profession in Japan received there Rs. 80,000. The
profession being set up in India. '

f) Income from agriculture in Nepal Rs. 25,000. (half of which is remitted
to India) ’

g) Profit on sale of plant at NewYork Rs. 1,40,000 half of which is
received in India.

h) Income accrued in India but received in Sri Lanka Rs. 30,000.

Compute his gross total income for the AY.2015-16, ifheis:
i) Ordinary Resident

i) Not ordinary Resident

iif) Non-Resident.

9. Mr. Pramod of Ankola purchased a plot of land on 1-07-2010for Rs. 5,00,000
~ and constructed a big house the construction of which was completed
on 31-3-2012. Half of the house was let out at a monthly rent of
Rs. 15,000 and J; of the house is used for his own profession and
retained the remaining portion for his own residence.

He furnishes the following particulars of his house property for the
A.Y.2015-16;

Rs.
a) Municipal value of the house 2,75,000
b) Fair Rental Value 3,00,000
c) Standard Rent 3,20,000
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d) Municipal Taxes paid 30,000
e) Interest on loan taken for construction: '
i) upto31-03-2014 60,000
ii) forthe P.Y.2014-15 40,000
f) Repayment of loan installment 1,20,000
g) Unrealised Rentofthe P.Y. 20,000

(allowable as per rules)

h) The let out portion of the house remained vacant for one month during
the P.Y.2014-15. .

Compute the income from house property for the A.Y. 2015-16.

10. From the following P and L A/c of Mr. Ramesh of Dharwad, compute his
business income for the A.Y. 2015-16:

Salary to staff 96,000 Gross profit 3,20,000
Office rent 24,000 Interest on Debentures 20,000
General expenses 8,000 Rentfrom house property 40,000
Car éxpenses 6,500 Intereston P.O.S.B. Alc 10,000
Municipal taxes 4,000 Discount Received 5,000
Income tax 10,000 Sundry Receipts 3,000
Household expenses 20,000 Agricultural income 12,000

Loss by embezzlement 4,000

Sales Tax (VAT) 3,000
Bad debts 6,000
Repairs 2,000

Interest on Bank Loan 16,000
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11.

Provision for bad debts 4.000

Advertising 15,000
Printing and Stationery 1,500
Depreciation 18,000
Net profit 1,72,000
4,10,000 4,10,000

Additional Information :

a) General expenses include Rs. 4,000 being donation paid to a school.
b) Municipal taxes paid and repairs pertain to the house property let out.
c) Half of car expenses are pertaining to personal use.

d) Depreciation allowable as per Rule is Rs. 22,000.

From the following information furnished by Maruti Manufacturing Industry,
Haveri, calculate the depreciation allowance for the A.Y. 2015-186.

Particulars of W.D.V.as Additions Rateof
Assets on 1-04-2014 Depreciation
A) First Block of Assets:
i) Buildings ‘A’ 7,50,000 10%
i) Buildings ‘B’ purchased on 5,00,000 10%
1-9-2014
B) Second Block of Assets : .
i) Plantand Machinery 6,00,000 15%
i) Plantand Machinery purchased
on 15" June 2014 2,00,000 15%
- iii) Plantand Machinery purchased 15%
on 15t December 2014 3,00,000
C) Third Block of Assets :
Furniture 4,00,000 10%

During the P.Y. Buildings ‘A’ was sold for Rs. 5,00,000 on 1-06-2014
part of furniture was destroyed by fire and the insurance company
accepted the claim for Rs. 1,20,000.
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12. From the following Receipts and Payments Account and the information
furnished by Dr. Vinod of Dandeli, a medical practitioner, compute his
income from profession for the A.Y. 2015-16 :

Balance b/d 12,000 House hold expenses 32,000

Consultation fees 2,40,000 Salary to staff 96,000

Visiting fees 80,000 Laboratory Expenses 44,000

Sale of Medicines 1,20,000 Carexpenses 32,000

Winnings from lotteries 50,000 Surgical equipments 20,000

Dividend on shares 6,000 Books (medical) 6,000

Intereston P.O.S.B. Alc 5,000 Membership fees 2,500

Gifts Received 16,000 Charity 5,000

Interest on Fixed Deposits 3,000 Income tax , 8,000

Salary as part time lecturer Purchase of car 2,10,000
in a college 30,000

| Gift to daughter 14,000

Purchase of medicines - 80,000

Balance c/d 12,500

5,62,000 5,62,000

Additional Information :
a) Half of the car expenses pertain to private purposes.

b) Depreciation on motor car at 15%, on surgical equipments at 40%
and on books 60% p.a.

c) Gifts received include Rs. 12,000 from patients and remaining from
relatives.

d) Membership fees paid are pertaining to All India Medical Association.
e) Closing stock of medicines amounted to Rs. 6,000.




1345-E02-VSC-R- N-15 8- 0 O 0 1 0
13. Compulsory Questions : (Case Study)

Following are the particulars furnished by Irappa, for the previous year
2014-15, who is working in a private company in Mangalore, the population
of which is less than 10 lakhs :

a) Net Salary Received Rs. 3,00,000 after deducting :
i) Own contribution to RPF Rs, 36,000 &
if) Income tax deducted at source Rs. 24,000.

b) Bonus Rs. 10,000.

c) Entertainment Allowance Rs. 20,000 p.a.

d) Education allowance for his son Rs. 1,000 p.m.

e) The company contributed Rs. 45,000 annually towards RPF.

f) Interest credited on the above fund balance at 12% per annum is
Rs. 3,000.

g) He went on tour for official purpose and received the travelling
allowance of Rs. 12,000.

h) During the P.Y. he was ill and was treated in a private nursing home.
The company reimbursed his medical bills of Rs. 18,000.

i) The company has provided him a motor car of 1200 CC which is
used for office and private purposes. The expenses of car are borne
by Irappa himself.

j) He was also provided with a rent free furnished house of the annual
lease rent of Rs. 40,000. The hire charges of furniture amounted to
Rs. 3,420.

Compute his income from salary forthe A.Y. 2015-16.
Case study :

What will be Irappa’s income from salary for the Assessment year
2015-16if:

i) The expenses of car along with driver’s salary are met by the company
and .

ii) The rent free furnished house is owned by the company. (3x15=*
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2015
Core Paper - 5.3 : PRINCIPLES AND PRACTICE OF AUDITING
(Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Answer all questions Subject to the internal choice.
2) Question 13 iscompuisory. '

SECTION-A

1. Answer any ten of the following.
a) Whatis continuous audit ?
b) Write two advantages of audit.
c) Who appoints the first auditor of a company ?
d) Whatis audit evidence ?
e) What is audit materiality ? .
f) Give the meaning of internal control.

g) Expand:
a) AASB
b) ICAI

h) Define vouching.

i) Whatis voucher ?

j) Whatis unqualified audit report ?

k) Give two reasons for qualified audit report.

I) What is error of omission ? (10x2=20)

SECTION-B

Answer any three of the following.

2. Briefly explain duties of an auditor.
3. Distinguish between external audit and internal audit.
[P.T.O.
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4.
5.
6.
7.

Briefly explain audit evidence.

Explain five features of internal control.

State the objectives of vouching.

Explain five basic contents of auditors report. (3x5=15)

SECTION-C

Question 13 is compulsory and answerany two of the remaining.

8.
9.
10.

11.

12.

13.

Define auditing. Explain the objectives of auditing.
What is audit planning ? Discuss in detail about audit planning.

What is internal check ? Explain internal check as regards cash receipt
from debtors.

How do you vouch the following ?
a) Payment of wages

b) Cash purchase

c) Payments to creditors.

Explain the qualified audit report. State the circumstances under which
a qualified audit report may be necessary ?

Case study (compulsory question).

The following transactions were wrongly recorded in a company books.
a) Cash sales 0fZ 90,000 wrongly recorded in sales books asz 9,00,000.
b) Credit purchase worth 20,000 has not been recorded in any books.
c) Payment of rent of ¥ 12,000 has been recorded twice in cash book.
)

d) Purchase of a computer for office use % 30,000 has been recorded in
purchase book.

e) ¥ 15,000 stationery bill paid is recorded in wages book.

As you are an auditor, answer the following questions.
1) Mention what types of errors are committed.
2) What action will you take to rectify such errors ? (3x15=45)
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FIFTH SEMESTER B.COM. DEGREE
EXAMINATION, NOVEMBER 2015
ACCOUNTING THEORY (Revised)

Time: 3 Hours] ’ [Max. Marks : 80

Instructions : All Sections are compulsory.
Question 13 is compulsory.

SECTION-A

1. Answerany ten of the following :

a) What is theory ? |

b) Name the parties interested in accounting information.
c) Whatis measurement theory ?
d) What do you mean by accounting principles ?

e) What do you mean by accounting environment ?

f) Give the meaning of full disclosure principle.

g) What do you mean by tangible assets ?

h) What do you mean by contingent liabilities ?

i) What do you mean by prepaid expenses ?

j) What are the bases of measurement of income ?

k) Mention the systems of inventory.

1) Expand;he following : |

i) AAA i) 1AS (10x2=20)

[P.T.O.




1353-E12-VSC-R-N-15 .2- ‘000 0 O
| SECTION-B

Answer any three of the following :
2. Distinguish between accounting theory and accounting practice.
3. Explain the non-theoretical approaches to accounting theory.

4. Find out owner’s equity under Residual Equity theory from the particulars

given below :

Fixed assets Rs. 35,00,000
Current assets Rs. 10,00,000
Equity share capital Rs. 25,00,000
Preference share capital Rs. 10,00,000
Reserve fund Rs. 2,50,000
P and L A/c (credit) balance Rs. 2,50,000
S. creditors Rs. 5,00,000

5. Discuss the objectives of valuation of assets.
6. Explain the criteria for recognise the revenue.

7. Calculate the vélue of stock at the end of financial year 31-12-2014 from
the following given data.

Materials Cost NRV
Rs. Rs.
A 5,000 7,500
B 12,000 10,000
C 15,000 18,000
D 21,000 25,000
E 24,000 : 19,000 (3x5=1
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SECTION-C

Question 13 is compulsory and answer any two from the remaining :
8. Explain the structural, interpretational and behavioural theories.
9. Explain the postulates of accounting.

- 10. a) Akash Co. Ltd. wanted to purchase the newly constructed building,
constructed by a builder at a cost of Rs. 35,00,000. The builder is
offefing to sell it at Rs. 42,00,000 on bargaining, the builder agreed
to sell it at a price of Rs. 38,50,000 and the Akash Co. Ltd. incurred
registration expenses of Rs. 4,50,000.

Answer the following questions :

i) Where are the registration charges recorded in the books of
accounts ? Under what principle the registration fees are recorded ?

ii) Atwhat price the building is recorded ? Under what principles itis
recorded at such a price ?

b) Mrs. Apeksha starts a business with a capital of Rs. 50,00,000.
Purchases a building for Rs. 20,00,000. She purchases goods worth
-Rs. 20,00,000 on credit from Mr. Akash.

Find the accounting equation and owner’s equity.

c) Mrs. Apeksha made non-business investments using her surplus
fund in hand of Rs. 2,00,000, what is the accounting postulate she
applied for ?

11. What is income ? Explain the concepts of income and objectives of
measurement of income.

12. What do you mean by accounting standards ? Explain the need for
accounting standards and objectives of accounting standards.
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13. Ratna Manufacturing Company gives the following information, prepare
stores ledger according to LIFO method.

1-4-2014 purchased 1000 units at Rs. 45 per unit.
4-4-2014 issued 500 units.

8-4-2014 purchased 800 units at Rs. 35 per unit.
14-4-2014 issued 600 units.

18-4-2014 purchased 600 units at Rs. 25 per unit.
24-4-2014 issued 700 units.

28-4-2014 purchased 400 units at Rs. 15 per unit.

30-4-2014 issued 800 units.
You are required to answer the following :

-~

i) Whatis the value of closing inventory according to periodic inventory
system ?

ii) What will be the effect on closing stock under LIFO ?
iii) When the Company wants to satisfy the share holders will it be
advisaible to continue LIFO ? Why ? (3x15=45)
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION,
NOVEMBER 2015
INDIAN ECONOMY (Revised)
Compulisory

Time: 3 Hours] , - [Max. Marks : 80

Instructions :1) Answerall the sub-questions at one place
continuously.
2) Mention facts and figures to support your answers.
3) Answers to all the Sections should be written in the
same answerbook.

SECTION-A

1. Answer any ten of the following questions in 2 — 3 sentences each.
a) Define “Economic growth”.
b) Write the meaning of infrastructure facilities.
c) Give the meaning of occupational structure.
d) Define GNP.
e) Calculate GNP from the following data.
NNP : Rs. 35,000 crs. Depreciation : Rs. 5,000 crs.
f) Define “Density of population”.
g) What is urban migration ?
h) Expand “N I T I”.
i) State the meaning of democratic planning.
j) Expand AGMARK.
k) Who are professional moneylenders ?
I) Whatis minimum support price ?
(10x2 = 20)

[P.T.O.
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SECTION-B
Answer any threeof the ‘followin‘g questions.
Explain the structure of Indian economy.
Describe the effect of liberalisation on the Indian Economy.
Define national income. Explain the uses of national income.
Write a note on sex-ratio.

Explain the general objectives of economic planning in India.

N @ oA WD

Highlight the new agricultural strategy in India.
(3x5 =15)

SECTION-C
Answer any three of the following questions. Question 13 is Compulisory.

8. Define economic development and discuss the various indicators of
economic development. .

9. Describe the various methods of calculating national income and examine
the difficulties involved in calculating national income.

10. Explain the causes and consequences of rapid growth of population in
India.

11. Evaluate the performance of Five-year plans in India.

~12. What do you mean by low productivity in agriculture ? Discuss the
various causes of low productivity in Indian agriculture.

13. Case lLet:

The Indian agriculture is encircled with too many problems. They are
scattered holdings, uneconomic holdings, low productivity, old technology,
lack of finance and marketing, low pricing, rural indebtedness etc. Of
these agricultural marketing has a long standing adverse effects onthe
status of farmers in India. However, many solutions have been provided
to overcome these effects and improve agricultural marketing in India.

Questions:
i) Name the important problems in Indian agriculture.
i) Define agricultural marketing.
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iii) Explain how agricultural marketing in India has spread a long standing
adverse effects.

iv) Name the important solutions provided to improve agricultural

marketing in India.
(3x15=45)
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V SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2015
RETAIL MARKETING (Revised)
Elective Paper — | & Paper - Il (Group B & D)

~ me: 3 Hours] [Max. Marks : 80
Instructions : All Sections are compulsory. Question 13
(Case study) is compulsory.

SECTION-A

Answerany ten of the following :
a) Define Retail Marketing.
o) Give four examples for Service Retail.
¢) What is Micro Marketing ?
1) What is Customer Profile ?
2) Whatis Merchandise ?
*1 What s store grading ?
3+ Give meaning of pricing.
~. What is sales promotion ?
Give two types of Retail Price.
State any two objectives of advertising.
< Mention any two advantages of Personnel Selling.

What is Relationship Marketing ? (10x2=20)

[P.T.O.
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SECTION-B

Answer any three of the following :

2.

3.

Briefly explain functions of retail marketing.
Explain features of effective segmentation.
Explain different medias of advertising.
Briefly explain factors affecting retail pricing.
Explain principles of Merchandise.

Explain different patterns of targeting.

SECTION-C

Answer any three of the following. Question 13 is compulsory.

8.

9.

10.

11.

12.

13.

Discuss challenges and prospects of retail marketing in India.
Discuss customer profiling and its relevance to marketing.
Discuss the criteria for segmentation.

Explain the factors influencing promotion mix.

Explain benefits and challenges of CRM.

Case study (Compulsory).

Assume you are planning to open a retail outlet near city.
a) What kind of retail outlet can you open ?

b) What product you will offer ?

c) How you arrange retail product ?

(3X5=15

(3x15=4
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V SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2015
FINANCIAL SERVICES - | (Revised)
(Group A, B & C)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) All Sections are compulsory.
2) Answer the questions according to internal choice.
. 3) Use of simple calculator is allowed.
4) Question 13 (Case study) iscompulsory.

SECTION-A

1. Answer any ten of the following :
a) What is financial services ?
b) What are fund based activities ?
c) What is sale and lease back ?
d) Define operating lease.
e) What is limited factoring ?
f) What is online trading ?
g) Who is factor ?
h) What is rematerialisation ?
i) Whatis close ended scheme ?
j) What is an equity fund ?
k) Which is the first Indian MF ?
I) Expand, ONICRA and CARE. (10x2=20)

SECTION-B

Answer any three of the following. |

2. Distinguish between open-ended scheme and close-ended scheme of
mutual funds.

3. Explain any two fund based financial services.

[P.T.O.
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4. Discuss different types of lease.

5. Write the functions of depository participant.

6. Explain the functions of a factor.

7. Discuss the role of financial services in the economic growth. (3x5=15
 SECTION-C

Question 13 is compulsory. Answerany two of the remaining questions.

8.‘ Explain the characteristics of financial services. |

9. What is lease ? Explain the advantages of leasing to the lessee.

10. What do you mean by venture capital ? Discuss the features of venture
capital.

11. Whatis depository system ? Explain the advantages of depository system
to investors. ~

12. Discuss the advantages and disadvantages of credit rating.

13. Case study (compuilsory).

a) Mr. Shivaraj is having the shares of some companies. He wanted to
open a Demat account with you. What processes you would adopt to
open a demat account in his name ?

b) Vasant has received Rs. 8,00,000, from sale of house. He wants to
deposit the said amount with a bank, for a period of 5 years. Assuming
that you are an agent of mutual fund. Convince Mr. Vasant that
investment in mutual fund is more beneficial than depositing in a bank.

c) Patilis in wholesaling business. By experience he had found that at
least 20% of customers do not pay their dues in time. He has to
spend a lot of time and effort running around for collections. He is
thinking of appointing some persons and has separate department
for credit collections. Analyse the pros and cons of this. And any
other alternative to overcome this problem. (3x15=¢
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FIFTH SEMESTER B.COM. (Revised) DEGREE EXAMINATION,
NOVEMBER 2015
COMPUTER APPLICATION IN BUSINESS
(RDBMS and E-Business Applications)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Answer all Sections, subject to internal choice.
2) QuestionNo. 12is compulsory.

SECTION-A

1. Answerany ten questions. Each carries 2 marks.

a) What is integration ?

b) Define hyperlink.

¢) What do you mean by database ?

d) Define entity.

e) What is primary key ?

f) Name any four datatype in SQL.

g) Expand DDL and DCL.

h) What s the use of ALTER command ?

i) What do you mean by telemarketing ?

j) Write any two benefits of E-Business.

k) What is Electronic Payment System ? _
) Define foreign key. (10x2=20)

[P.T.O.
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SECTION-B

Answer any three questions, each carries 5 marks.

2
3
4.
5
6
7

. Explain the uses of integration.

. Expléin the objectives of RDBMS.

Explain features and weakness of SQL.

. Describe the impact of E-Business.

. Briefly explain the advantages of virtual supply chain.

. Write the characteristics of E-Payment systems. (3x5=15)

SECTION-C

Answer any three questions, including question number 12 which is
compulsory.

8
9

10.
1.

12.

. Explain the methods for integration MPEG files in MS-Powerpoint.

. Explain Database Languages.

Explain the major components of e-supply chain management.

Define credit card. Briefly explain advantages and disadvantages of
credit card. \

Assume that you are appointed as a Computer Programmer in Raju
computing solutions. You are asked to create two database tables.
1. Student table with Roll_No., Student_Name, Address, Class,
Sub1_Marks, Sub2_Marks, Sub3_Marks fields and 2. Library table with
Roll_No., Book_name, Author, Publication, Price fields in SQL.

Perform the following tasks using SQL.

a) Insert at least five records in each table.
b) Add total_marks and percentage fields in student table.




0 O 3 1351 - E08 - VSC - R-N-15

c) Calculate and update : }
- Total_marks = sub1 + sub2 + sub3
- Percentage

d) Display Roll_no, Student_name, Class, Percentage where student
class belongs to “B.Com. 5 Sem.”.

e) Display Book_name, Author, Publication where book_name is
“Computer Applications”.
Use SQL, write commands involved in every step.

13. Write a short notes on :
a) Database Security.
b) Date and Time functions.
c) Services of mobile banking. (3x15=45)
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION,
NOVEMBER 2016
, HUMAN RESOURCE PLANNING AND DEVELOPMENT
| ) Paper — Il : (Group C and D) (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Answer all questions according to internal choice.
2) Question 13 is compulsory.

SECTION-A

1. Answer any ten of the following : (10x2=20)
a) What is Human Resource Planning ?
b) What are the two objectives of Human Resource Planning ?
¢) What is Human Resource Deveiopment ?
d) Whatis Human Resource Inventory ?
e) Mention any two special features of Human Resource.
f) What is job instructions ?
g) Whatis lecturer method of training ?
h) Whatis counselling ?
i) Expand TQM and QWL.
j) What is Participative Decision Making ?
k) Mention two characteristics of organizational development.
) What do you mean by self directed teams ?

SECTION-B
Answer any three of the following : : (3x5=15)
2. What are the importance of Human Resource Planning ?

3. Explain the features of Human Resource Development. (PT.0
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4,

Explain the need for employee counselling.

5. What is potential appraisal ? What are its objectives ?

6. What is training ? Difference between training and development.

-
{.

Explain the objectives of participative decision making.

SECTION-C

Answer any three including question 13 which is compuisory. (3%x15=45)

8.
9.
10.

11.
12.

13.

Explain the advantages and disadvantages of Human Resource Planning.
Explain the recent trends in Human Resource Development.

Write short notes on any three of the following :
1) Coaching.

2) Conference.

3) Case study method.

4) Lecturer method.

What is organizational development ? Explain its need and importance.

What is meant by Total Quality Management ? Explain the benefits of
Total Quality Management.
Case study question (Compulsory) :

Indian Company Limited wants to train the employee to improve their
performance, as an Human Resource Manager,

a) Critically examine the method of seminar.
b) What criteria do you consider for choosing right training techniques ?
¢) How do you evaluate the effectiveness of training programmes ?
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i) TQM 508 QWL 3R HROR0.
j) Qearod IRt LTOREERIE OTITER ?
k) Roze3do @&3&’3@@0:53 O3V TITTR RTTD r{x@@ﬁpr{e}d% BewO.
1) 3,030 DTIF 8B 70T DOTTEIO ?

NTIN—W

2Ie50T SoRTE YUZORO: : (3x5=15)

2.

3.

4.

s omRRw CleEod FE3, CIRR 2
AnSR ROTRRY LRTHHED SR HFOD.

200 SFROT0I L3 TIII DO,
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5. ROYIBL0D AT F T3 0TI OTTERD 9 LT GUTIEMTE TS,
6. 3TeIed 0BT ? ITwWed w02 eﬁabda QRGBS AN pasteiel
7. Qear oD FRAMDFODNE 1NOSRMRNEON SVCI BTy CIRT T 2
QPIN—3F
30 5 1300¢RR0ToS e ST 603020 (3x15=45)
8. EnEE AomRaw CineEoD SIBRCS T8 CRRBRCINE: DTN,
9. RNz ROBIRL WY HODS SNTT 3G BIFTANTR) D00,
10. B33INS 23e50t3 0RTE, wd w'@;sfér{eﬁg{ WBOWD :
1) o388 Scues.
2) Ryp TT]T.
3) S0R0T BEWET.
4) WBIR SPDE ﬁqp@.
1. Ropus ofisf) 2oEted ? s Nz s £08) Sowe, HEORD.
12, Fpeor MOLadLIE DB DOTTERD 7 ST RLPNFR, SO0,
13. TFT0 L5303 (Fre0) :

QOROITT FOTAOKD BF AWODNY FoORF TS0, TURLS TTed Dewdwd

LIODRITYT, BITe ROTIQY a%dm@aﬁmﬁ

a) o) W s Bey [ B0ued Seoris BTLIed w%%o:bcﬁa SRoTEGFN
QTOXD.

b) Roodnc 2deded a’xé%ﬁ%ﬁdg{ S0%) TWRBEL TP OIS LSOBMYRL TESRRZD ?

C) S0wed TooF BT d@mdsﬁé’oﬁoﬁg{ zen @’@G@:’@éf@ ?




2353 -E11-VSC-R-N-16-
00O A

FIFTH SEMESTER B.COM. (REVISED) DEGREE
EXAMINATION, NOVEMBER 2016

FINANCIAL SERVICES (Paper — I) ‘
Time: 3 Hours] ‘ - [Max. Marks: 80

Instructions : 1) All Sections are compulsory.
2) Answer the questions according to internal choice.
3) Use of simple calculator is allowed.
4) Question 13 (case study) is compulsory.

SECTION-A

1. Answer any ten of the following :

a) Define financial services.

b) What is meant by Portfolio management ?

¢) Whatare fee based financial services ?

d) What is meant by leasing ?

e) What is meant by Mutual Funds ?

f) State any two objectives of venture capital.

g) What is meant by loan syndication ?

h) What is meant by depository services ?

i) What is meant by dematerialisation ?
j) What is Recourse Factoring ?
k) Write any two objectives of credit rating.
1) What is meant by forfeiting ? , (10x2=20)
' SECTION-B

Answer any three of the following :
2. What are the features of financial services ?
3. Distinguish between financial lease and operating lease.
4. What are functions of NSDL ?
5. What are features of credit rating ?
6. What are features of close ended Mutual Funds ?
7. List out the difference between factoring and bills discounting. (3x5=15)

[P.T.O.
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SECTION-C
Question 13 is compulsory. Answerany two of the remaining questions.
8. Explain different types of financial services.
9. Define factoring. Explain various types of factoring.

10. What is rematerialisation ? Explain the steps for and process of
rematerialisation.

11. Explain the advantages and risks of mutual funds.
12. What is venture capital ? Explain its characteristics and scope.
13. Case study (Compuisory).

M/s Suma Co. Ltd., wishes to have an asset costing Rs. 10,00,000
it has two alternatives.

i) To borrow the amount at 20% interest payable in 5 equal
instaliments and purchase the asset.

ii) To take asset on lease basis for a period of 5 years. The rent
payable on lease asset was Rs. 2,40,000 at the end of each year.
The company is in the tax bracket of 50% p.a. It depreciates the |
asset on reducing balance method at 20%. At the end of 5 years
the asset will have salvage value of Rs. 3,00,000. |

The company is asking your suggestions about

a) Whether to take a loan and purchase the asset ?

b) Whether to take a asset on lease basis ?

(Note : 1) The present value of Re. 1 at 10% discount factor is

as follows :

18t year 0.909
2nd year 0.826
3"dyear 0.751
4th year 0.683
5t year 0.621

[I) The present value of Annuity of Re. 1 @ 20% is
Rs. 2.9906 for 5" year and at 10% is Rs. 3.791.)
(3%x15=45)
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1.

3R e
BRSO 1) D& DeIorITe SEBIOVTINS,
2) <0308 SO 85608, D —’a’n’@’w VZOR0.
3) e &) wcfe&:’o‘rfﬁfd) .n:’uaa’ ww’aifamv&)wm

¥ %57
4) gJ 13 s@00, F5orD wa’fw—’—’a’ &SN,

QTN - €2
3ENS et B, GUZOR0.
a) TLIBORO RO, T,TN.
b) ‘spetsrgPpedadne mRReessdots” HomdeRd 9
c) 53@% e35500% TEFTORO ACTINE IR ?
d) Resd 0T3S0 ?
e) TOTROFIPNSOTTed 2
f) TR L0BZYE TR SOTIBRER), 8920,
g) OB B BB 0TI 9
h) BRed ReBSnwd oEdeRd 9
i) 27286830 DOTITER ?
) wERIR00RE Ry FOONT 0T3TERD ?
k) TES 3 eede30ears TED mcﬁ@ezﬁﬁ%&q 0.

. ) Bporessont omEded? -~ (10x2=20)

QNPIN - W

BINS 23T BT wé’h’@ﬁ SUBORD.
2. TEITORD REINY osear\’%fo o3NYR) ?

NP’S—"P.W

TEITORO 17068 303D aoomr?g Recdne ST F 3, Nr{%}ab 03OV,

N.S.D.L& 50 ngh csnd) 9

BES B eedesveaTs VAN m@@ ?

dm%d c3pex30% TR0 D @ﬁf@h’_@ﬁd& DWOD.

FRTOONT 3033 BIOR-ARCRBEFTED SBODT TFBYRNGR) DeIRRE. (3x5 =15)

|
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_ QNLIIN - B

B513 B0, CUTBRNGS ermades BB uZono.

8. TLoTAT NeINY ,5O0N B2 DTOD.

9. o™ ffaonf D0YRR0. DG TTIONY 739, 560?1953 DTOB.
10. e@m,faréeidsa @oddem 9 eg)ﬁw’aréeédsad 5337?# R z%ojocxbda QTJOD.
11. @0x08 :o@rﬁe; &,032eIND 028) mwoms 2020 DTOD.
12. waﬁ)e LOBP 20TIeRd ? a3 @ésaﬁ%a B 5, ,QCIR DTWORD.
13. RQse3 DFewmis- gmaod 33

B0 Il @R F0.9., B 3e. 10, 00,000 w%m’ 20T By oJeddd fadéé o1 )
TOIRE O3,

i) 3 59@5& 3e. 20 0o e TR AROTT 5 BOBINYE) 20BN,

i) R0DF 5 SR reed Rwe? TBCIZZ. [TTN TOAFT- RN
d5. 2,40,000 &m53c3. 31 Somnt Je. 508 Sort S, 00T, B3
ifo"”actbe‘b 3e. 20 OO d#@odaﬁo B0 «a@ma LS cﬁéoﬁaoé
mmsad 2000 da‘ira’ 3033, e:wojo esodaae% SONT 6036 Clatoll
SUPBOLD ds’be 3. 3,00,000 470255,

FOTOI0 83 BPNS 203N ot IR OB 2ODROB,
a) MO JE B3 w?vojo& 00eDT3eF 9
b) rieed e35520%3 Boees e:mojaab TEo33ed 9

(ReeES: 1) e 1065@3&36660@&3 1o’~ddade§ds’3©@;
BINT0Z wdB. .

13ex=E - 0.909
23emRE 0.826
3JezRE 0.751
43e @ 0.683
53e3=e  0.621
2) 3e. 200 3R BOm03 T, 1 aFE SIS ReZ
5 SRFNY S038 8. 2.9906 538 Se. 1 00o3dR. 3.791
Clettind) (3x15=45)
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2016

RETAIL MARKETING (Revised)
Elective Paper — | and Paper - Il (Group B and D)

Time : 3 Hours] : [Max. Marks : 80

Instructions : All Sections are compulsory.
According to internal choice question13
(case study) is compulsory.

SECTION-A
1. Answer any ten of the following :

a) Give the meaning of organised Retail.
ROTPESB OLIee* ST eﬂqﬁrda’% Qeqd.
b) What is a departmental store ?
QLTONCO AT LHONE DOTTERD ?
c) What is Hyper Market ?
LT DT E DOTTEID 9
d) Whatis Market Segmentation ?
SR08E, DI 20TTed 2
e) Give the meaning of Marketing Mix.
TRTVE 303001 D0FEIT ST HS DeRD.
f) What is product positioning ?
méﬁﬁe} €36303TRNRORZOI0TTE 9
g) What is Strategic Profit Model ?
TOBLR, TR0 LI WRTIO 0BT 9 |
h) Give the meaning of Merchandise Management.
ROBING VT BEHOD @qﬁrdsi Qe&0.
[P.T.O.
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i) What is psychological pricing ?
DITT 2363 INQETT IR0 ?
j) Which type of price technique is best suited for retailers in India ?
03933 703D We 308, 70080 DE3ewT R ARTNT 2
k) Whatis Relationship Marketing ?
RowWoRT T3 B30 20T ?
I) Give the meaning of Retail research.
DEdee® FOBREPIOL @z;ﬁrddi QeR0.
(10x2=20'

SECTION-B

Answer any three of the following :

2.

Explain in brief major formats of Retail.
Otdees® a’gsdmdd 2330080 @cﬁﬁ@d& ;n’o@gjmﬁ DTS,

Explain in brief the qualities necessary for a Retailer to succeed in his
business.

DHec TTTRR 33, FRHOT, CHBRY CIRTILS ST TN BRodTHes
Rotarteiy, DEOR. |

Give the broad parameters of customers profile.
MYEE0 2530 B,0RTE B0, WoBNYRD E92.L8.

Explain principles of Merchandising.
RTBONG VR TEBOL 3%71@52{ A iekile)

Explain different techniques of sales promotion.
IR0 WRGF RO WP :%o:gﬁ#&q QROD.

Explain Market Information System.

3 —2 2 =t Aama—a ~=d
ﬁJ:C’:&S i;c:f, :,3.:~*.AV:.,‘- LImSAl
™~ - - =,

(3x5=1.




' Answer any three of the following. Question13 is compulsory.

13.

M B ACRE R AR R RV E AR —s- 2355 -E13-VSC-R-N-16 i
SECTION-C

Explain different kind of Store Design and Layouts.
Sties® ROV DOF wRCD TR 3083 C3REINTI) D[ORO.

Exblain the Essential qualities of a successful product positioning.
0B, U\)%ﬁqﬁ%? e26303NRINBOD =B mm@*m‘* QWORD.

What is stores Management ? Explain different Departments.
St8eer® SOVRNY P TTOBS QOTTEI ? DG @mﬁﬁ%ﬁd& DTWORD.

. Explain merits and demérits of advertising.

2TV BROBRO 08 wmmm@ém@ QDWOO.

. Define Customer Relationship Management and explain the features of

Customer Relationship Management.
9,8 FOWOTNS &3 TRTSOI 539,83, 030%3, DeO W03y MD,TF ROOGNY
T[I|ROTIO OFLNTI), DTORD.

Case study (compulsory) :

You are planning to launch a new smart phone with multiple latest features
to compete with existing products in the market.

1) What is your preferred segment of customers ? Why ?

2) Explain the pricing strategy you would like to adopt.

3) What would be your sales promotion strategy — Explain. ,
BRIB BRTBEEDY, VY DITOT AP PR RYRON ARFALO 03T TT,

R OGTOCPTT NILPOTEINTT), BROQTOT SEOVT AP VBN
TR 03REBIOED.

1) ey 503y, SRRERTI MO,®IT WNE 03RO ? 9F 9
2) Qdeay w0, BRwo v QEFTT TORFBOZW/RY, RoEZemN DW|ORD.

3) Pey BRIBORLTETIT RR0DL BRIFS0DH FoFRE), RoSTToN DFORO.
(15x3=45)
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION,
NOVEMBER 2016
INDIAN ECONOMY (Revised)
(Compuisory)

Tfme : 3 Hours] [Max. Marks : 80

Instructions : 1) Answerallthe questions atone place continuously,
2) Mention facts and figures to support your answers.
3) Answers to all the Sections should be written in the
- Same answerbook.

R0 . 1) e G 2,053 557 U020,
2) ©03 SoITADOCVF T Tpes Y NBTRED DDA
8) &R DRI WSO w0 VST Fa0G 200200,

SECTION-A
NN — &

1. Answerany ten of the following questions in 2-3 sentenceseach :
PN RT3 53_.3 @gﬁ@ﬁ, wjéoﬁ,@oda@} 2-3 m@ﬁ@@o SUBORD:
a) Whatis economic development ?
SRFT wapaé@@ QOTITEZD 9

b) Mention any two features of developed economy.
@?,,‘:)ag@@ BRODT @a@er@gw%m ORI TITITH TR e)gsarf%%g{ EPD.
c) Define secondary sector.
Q,8e0m de)o:bd&q 39 TYRR0.
d) Calculate NNP from the following data. GNP =% 2,00,000 crs.
Depreciation =% 20,000.

59 ae@d €908 €203NY FToOD0T Z’Oag%f 09,003 eméﬁd TS 80,
u%m%eojo eméwaiz ¥ 2,00,000 crs.
NN, dai: < 20,000. [P.T.O.
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e) Expand DPI.
DPI 25030.

f) What is sex ratio ?
DorRET08 DOTTEO 9

g) Give the meaning of infant mortality.
B0 WOTEIT I BRRD.

h) Who is the Deputy Chairman of NITI Ayog ?
e L303PENT YVTDGTTO CIRTO ?

i) What is economic planning ?
ST 03RS Q0T ?

j) State the two causes of low agricultural productivity.
LIOTSE A0 RO QROR QTR TR fadear{%ﬁﬁaq BeLD.

k) What is food security ?
$5598 LT3 0TI ?

l) Give the meaning of ‘Green/Revolution’.
BATO 59,080 I BRRO. (10x2=20)

SECTION-B
QNPIN—W

Answer any three of the following questions :
3INS TZNYE 03I RTF, YUgORD:

2. Explain the features of Indian economy.
YT SHFE (IR @i mﬁ@ﬁg{ QDWOXD.

3. Discuss the various concepts of national income.
Ty 0 eSTIDCINTI DTS aﬁ@‘ée&ﬁﬁ@ﬁg{ W3R,

4.- Write a note on density of population.
BROTZ FoedS £3TeF WBCD.
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5. Explain the objectives of eleventh five year plan.
Sﬁ@(odﬁojo WOV 03RewT0D erocgesjmfdi WO,

6. Discuss the defects of agricultural marketing in India.
TRTSE G TRDFOD RROOUTDT SRIINTR 2320,

. 7. Explain the causes and effects of green revolution.
TATO B2,08030 T30 =Y TOTITNTR) DZ00. (3x5=15)

SECTION-C
QPIN—73F

Answerany three of the following questions. Qqestion No.13is compulsory.
3N BINYE cInRYemdn TRTE LoD, @zz Roe3 13 TE0TNG,

8. Discuss the major problems of Indian economy.
ApleTcint @cﬁr@ssﬁf&m 00D #So:u;ﬁﬁﬁxg{ 2303720,

9. Whatis national income ? Explain the various causes for the slow growth
of India’s National Income.

T2y,£030 ESTIOL 03T ? LT3 T9y,000 &3T3003T3 BO0WNRS0D L3Fe3esrin
QIR fadtar\’%fdl QDWORD. '

10. What is population explosion ? Explain the various measures to control
the population explosion.

wAosTARsts QomSeRd 2 sdonm ARt RebodR KR BTt
DO,

11. Explain the objectives and achievements of five year plans.
TOBTOAFE 03REHING OO P mcjﬁmf&g{ DTWOD.

12. What is agricultural finance ? And explain its various sources.
TR BEIFIRD DOTITE 9 D) &30 QG MG)WQ QIO
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13. Case Let:

For a long period, almost for four decades of economic planning, India
remained content with Hindu rate of growth of about 3.5% per year. For
a decade later, India moved into neo-Hindu rate of growth of 5.7% per
year.

Economic liberalisation contributed to higher growth rate. Between
2000-2010, India witnessed annual growth rate of 7.2% per year. This
period is known as the period of enriching higher growthrate. The main
factors responsible for EHG are rapid expansion of service sector,
manufacturing sector, public consumption pattern and change in the
compression of India’s populat|on etc.

- Questions:
| i) What is the extent of neo-Hindu Rate of Growth.
i) What is enriching Hindu Growth Rate ?
iii) Expand EHG.
iv) Whatare factors responsible for EHG ?

Né 5353 RV

@@3%‘% o3xaezsﬁ<m ROBINT TLY GTENY DETF RO BTF LRTIR) BOTRTI
B8 B[R 3330 3.50R), &omzﬁ%ﬁaﬁséﬁ aiomtolelaTatcl] BROOBE. )8 20T
dsﬁ%d F03T LPTIR) oaF s 38 5. 70R) BRR ocira Semein Soteoan
BOOOTOTWOCIIB.

SGFF YUTIDEBTRY) LHF LTSN TOT, T0DOIRENB. 2000-20100 @3
WOTIR) TS WRF 63 7. 2T, TOXFT WBFTEIN dd‘c’ 1%033303333 3 ¢330
ofom ) edaoéﬁm?wd =03 Bomesn 35T @ﬁc‘boﬂoom Sefelatorsioploverce)
Nemwemd 3633, DT, GO VLT 3633, 3933, azeAn eRdrieen
BFG0DY, 2038 @Ndﬁ% 303) md‘a’cﬁ WSRO, oja Ro03REEI0G, WHLORE
dwoaad oBrdd é eRoBRRORR 0T d@ds@ﬁ ddé umm@oﬁwémﬂaﬁ
S 2371%'30

) &rafq 20T B3edn BOT BreassR) ?
8 eTOCBRAYROT 0TI d%fdséﬁ oo} @odéeda ?
HG Q%080
eI RATRIT 208 L3P dd%é olovn] umw%bojwémd £203NTIRD) ?

(3x15=4

i) &
iii)
)

iv

& M
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V SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2016
PRINCIPLES AND PRACTICE OF AUDITING

Time : 3 Hours]

(Revised)
[Max. Marks : 80

Instructions : Answerall the questions according to the internal

choice.
Question 13 is compulsory.

SECTION-A

1. Answerany ten of the following :
a) Whatis Auditing ?
b) Give the meaning of Interim Audit.
¢) What is a compensating error ?
d) Whatis audit programme ?

e) What do you mean by Guidance Notes ?
f) Give the meaning of compliance test.

g) What is internal control ? ‘

h) What is flow chart ?

i) What is audit sampling ?

J) Give the meaning of window dressing.
k) Expand AAS, and AS..
) Whatis a qualified audit report ? (10x2=20]

SECTION-B

Answer any three of the following.

2. Bring out the distinctions between Accounting and Auditing.

3. Explain any five essential professional qualities of an auditor.

[P.T.C
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4. What are the objectives of internal control ?

5. Briefly explain the procedure of setting the standards on auditing in
India.

6. How do you vouch the payment of wages ? Briefly explain.

7. What is auditors certificate ? How it is different from auditor’s report ?
(3x5=15)

SECTION-C
Question 13 is compulsory and answerany two of the remaining.

8. What is continuous audit ? Explain the advantages and limitations of
continuous audit.

9. Explain the basic principles governing an audit as per SAP-I.

10. What are the different stages involved in the evaluation of Internal Control
System ? Explain them.

11. Whatis vouching ? How do you vouch the following ?
1) Cash sales
2) Cash purchases
3) Payment of bills payable.

12. What is audit report ? Explain the different types of audit report that can
be given by the auditor.

13. Case study (compulsory) :

Assume that you are an auditor of a joint stock company. After verifying
the books of accounts, you have the following observations.

1) The provisions for depreciation on fixed assets are inadequate.

2) The stock in trade is valued at market price which is higher than the
cost price.

Under such circumstances, what type of audit report will you submit ?
Draft the specimen of that repon. , (3x15=45)
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1. 3589NS Jeo3 2E wuzoR0.
a) Jg ©oFReGS womded ?
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C) ROBANRIR 35 0TI ?
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TN - W
33 9T Wems SSRTE LUBORD.
2. g zor, 302 8, ToBRTT 07 3, NS ST T RN 2S00,
3. cﬁi +cmqsgs om@mddra T F3TT mm@:% 2308,
4. e:soéaﬁ ewlerfxn! WZeBND IR ?
5

. PTG I3 ouerioatove:y abasaﬁeéﬁo wmod moﬁr&méwm RO§ZN
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320 6T RS @maﬁrﬁ#ﬁi Bers wbegfbgea 9 x»’oégmﬁ QWORO.
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WRONTS ? (3x5=15)
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313 oG, euenYned) ems H0RE, s30R0.

8. dTo33 e3§ RVOBRPS 0BT ? VB33 d§ BOBRETIOL BERBRUE =02
emmmegﬁe:sﬁ DTOX/O.

9. SAP-I 0 Z5o0 &8, WOZRPI0IR, TRVAT BIPW SZNRFI) D[0R.

10. 50308 DoDH0Z 0 BRIH TRYBTE HDF Bo3ridd IR ? SR,
QTORD.

11. T8 PYooBNT) waeg’ﬁodm DOTTERD ? B3 NS RS @mdr{%& zent
daeg&gea ?
1) INT0 T3
2) INT BROBBRL)W
3) ToRNY RooD.

12. &8 ToZRePS [OD HoTTERD ? &7 TOBRTBI ABWY, DT BFONE
TCONTS DTORD.

13. &80 eﬁcﬁzsodaﬁ (#m@o&)

DEY) WICWOLT AIF® TOBAOD 22, g, BOBRTTSOTO LR 6§ o;‘jgr{e}abct
TOCBAT V0BT Reey B FINS 03N Y NS BORQED.

1) %écaér{ei 230eeS FHRZROOT ARBYOD R0Zey TOBRY, BIRET, ATRYOY .
2) ORI ;‘Jo’ﬁoﬁﬂﬁmq RS dﬁ@ﬁo@ BRBENTD SRTIFEIED BSR

PO, BORTING,
B ABBTY, DY 0D DG U HOEGR TR, DERNO 7 33
B0, 2TCAD. (3x15=45)
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FIFTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION,
NOVEMBER 2016

COMPUTER APPLICATION IN BUSINESS
(RDBMS and E-Business Applications)

Time: 3 Hours] [Max. Marks: 80

Instructions :1) Answer all Sections subject to internal choice.
2) Question No. 12is compulsory.

SECTION-A
1. Answerany ten questions, éach carries 2 marks.
a) What is integration ?
b) Define hyperlink.
c) Define entity. Give an example.
d) Define DBMS.
e) Expand DDL and DML.
f) Name any two symbols used in E-R Model and write their use.
g) Write the syntax of UPDATE command in SQL. Give an example.
h) Define foreign key.
i) Define E-Commerce.
j) Write any two advantages of direct marketing.
k) What is credit card ?

1) Name any two advantages of E-banking. (10x2 = 20 Marks)

[P.T.O.
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SECTION-B

Answer any three questions, each carries 5 marks.

2.

N o o A~

Write the steps of inserting audio and video files in powerpoint
presentation.

Explain the types of relationships in RDBMS.

Explain any five string functions with syntax and example in SQL.

Explain the benefits of E-Commerce.

What aré the advantages of EDI ?

Write a note oh ATM. (3x5 =15 Marks)

SECTION-C

Answer any three questions, including question number 12, which is
compulsory. Each carries 15 marks.

8.
9.
10.
11.
12.

Explain the different methods of integrating Excel file into word.
Explain record based data models in detail.

Explain the functions of supply chain management.

Explain E-Business marketing and Branding strategies.

You are appointeyd as a computer programmer in XYZ Company.

You are asked to create PRODUCT and SALESMAN tables with the
following fields.

PRODUCT TABLE SALESMAN TABLE
Product_Id Salesman_Id
Product_Name Salesman_Name
Quantity | Product_Id

Price Place
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Perform the following tasks using SQL.
a) Insert five records in each table.
b) Display all records of product table.

c) Display Salesman_ld, Salesman _ Name, Product_ld, Product_Name
where Place = “Dharwad”. ‘

d) Display Product_Name, Quantity, Price where Product_id = “P02".
e) Display all salesman records whose name is “Anil”.

13. Write short notes on :
a) Duties of DBA.
b) Numeric functions in SQL.
c¢) Types of E-Business. (3x15 = 45 Marks)
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FIFTH SEMESTER B.COM. (REVISED) DEGREE
EXAMINATION,NOVEMBER 2016
(Paper — [I) ACCOUNTING THEORY

Time: 3 Hours] , : [Max. Marks: 80

Instructions: 1) All Sections are compulsory.
2) Question 13 is compulsory.

SECTION-A

1. Answer any ten of the following :
a) Write any two objectives of Accounting Theory.
b) Mention the roots of Accounting Theory. |
c) Name the different branches of Accounting (any four).
d) Give any four names of basic principles of accounting.
e) What are the elements of Accounting structure ?
f) What do you mean by monetary asset ? -
g) Distinguish between current liabilities and long term liabilities (any two).
h) What do you mean by Accounting Postulate ? ’
i) What is income ?
j) Define Revenue. »
k) Who are the different users of Accounting Standards ?
l) Expand the following :
i) IFRS ii) IASB | (10x2=20)

[P.T.O.
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SECTION-B
Answer any three of the following :

2. Explain the features of Accounting Theory.
3.

0 0 O 0 A

Explain the going concern postulate and monetary unit postulate.

4. Find out the owners equity from the given Balance Sheet under Proprietary
Theory.
Balance Sheet as on 31-12-2012

Liabilities | z Assets z
Capital 20,00,000  Building 15,00,000
~ Profitand Loss A/c 4,00,000  Machinery 12,00,000
Creditors 13,00,000  Fumiture 6,00,000
Bills payable 4,00,000  Stock 8,00,000
Bank overdraft 3,00,000 Debtors 6,00,000
Reserves 6,00,000 Bills Receivable 3,00,000
50,00,000 50,00,000

5. Explain the objectives of measurement of income.
6. Give the list of AS issued by the ICAI (any ten).

7. Ratna Co. Ltd., uses the adjusted selling price method for estimating
monthly inventory balances. The following datas for the year ended

31t December 2012 are available.

L4
Stock (inventory) on 1st January 2012 6,00,000
Total sales 16,60,000
Total purchases 9,30,000
Purchase returns 30,000
Sales returns 60,000
Carriage inwards 2,00,000

The company makes a gross proﬁt of 25% on net sales.
Calculate the cost of the stock (inventory) as at 31t December 2012.

(3x5=15)
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SECTION-C

Question13is compulsory and answer any two from the remaining.
8. Describe the theoretical approaches to Accounting Theory.

9. Explain Proprietary theory, Entity theory and Fund theory.

10. A) Calculate the profit by matching principle from the following information :
" a) Financial Year : 01-04-2011 to 31-03-2012
b) Capital introduced in business : ¥1,60,000
c) Purchase of goods for the year 2011-12 : 4000 units at # 50 each
d) Sales of goods forthe year2011-12  : 3000 units at ¥ 90 each

e) Salary paid to staff : ¥ 2,500 p.m. for 11 months
f) Miscellaneous income received : 71,000
g) Rent of the building paid : 7 3,000 p.m. for 11 months

h) Paid to sundry suppliers for purchase : # 1,20,000
i) Received cash on account of sales : 1,80,000
B) Select proper answer in the following cases :

a) Stock valued at cost price or market price whichever is less
because of

i) Cost principle
i) Uniformity principle
iii) Conservatism principle
b) Depreciation of fixed assets is provided in view of
i) Entity postulate
if) Going concern postulate
iii) Monetary unit postulate

= - L
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c) The entity is something separate and distinct from those who
provide capital to the entity because of '

i) Fundtheory i) Entity theory iii) Enterprise theory
Also give brief explanation for each case.
11. a) Give the meaning of assets.
b) Explain the features of asset.
c) Explain the historical cost price method of measurement of asset.
12. Explain the merits and demerits of Accounting Standard.

13. Appu Manufacturing Company gives the followihg information. Prepare
the stores ledger according to FIFO method.

01-10-2010 purchased 2000 units at 7 10 each

04-10-2010 issued 500 units

08-10-2010 issued 1000 units

12-10-2010 purchased 2000 units at 13 each
16-10-2010 issued 1500 'units

20-10-2010 purchased 2000 units at ¥ 16 each
24-10-2010 issued 1000 units |
28-10-2010 issued 1500 units

30-10-2010 purchased 2000 units at 19 each
31-10-2010 issued 1500 units

You are required to answer the following :

a) Whatis the value of closin‘g inventory according to Periodic Inventory
System ?

b) What will be the effect on closing stock under FIFQ ?

c) When the company wants to satisfy the shareholders will it be
adviseable to continue FIFO ? Why ? (3x15=45)
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FIFTH SEMESTER B.COM. (REVISED) DEGREE EXAMINATION,
NOVEMBER 2016
COST ACCOUNTING - | (Paper — 1)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) Attempt questions according to internal choice
in each Sections.

2) Non- programmable calculator is allowed.
3) Question No. 13 (Case Study) is compulsory.

SECTION-A

1. Answer any ten of the following. | (10x2=20)
a) What is cost ?
b) State the components of prime cost.
c) What is indirect matenl‘?ial cost ?
d) What is maximum stock level ?
e) Whatis bin card ?
*f) What is time wage system ?

g) Mr. Santosh produced 250 units in a day of 8 hours. The wage rate is
¥ 2 per unit. Calculate his earnings.

h) What is overhead ? Give two examples.

i) What is allocation of overhead ?

|

) Write two advantages of cost sheet.
k) What do you mean by idle time ?
)

I) Mention the basis for apportionment of rent and rate and canteen
exps.
[P.T.O.
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SECTION-B

Answer any three of the following. (3x5=15)

2. From the following particulars prepare the Cost Sheet.

. L4
Op. Stock of Raw Materials 1,00,000
Cl. Stock of Raw Materials 75,000
Materials issued from Stores 20,000
Materials purchased 2,55,000
Direct Wages 2,00,000

Factory overhead 50% of direct wages. Administration overhead 25% of
Factory Cost. Sales ¥ 8,00,000.

3. From the following information of Padmini (P) Ltd. You are required to
calculate

a) Re-orderlevel

b) Max. stock level

c) Min. stock level

d) Dangerlevel

Re-order quantity 4500 Units

Max. consumption 1200 Units per week
Min. consumption 750 Units per week
‘Re-order period 4 to 6 weeks

Emergency period 1 week.
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4. Calculate the earnings of Mr. Preetam from the following information
under

a) Time Wage System.

b) Piece Wage System.

Normal wages per day of 8 hours 24.
Standard output per day 24 Units
Actually he has worked 12 hours

He produced 40 units.

5. From the following information provided by Laxmi Co. Ltd. for the year
ended 315tMarch 2016.

Factory overheadX 62,000

Direct labour cost X 98,000

Direct labour hours 155000 hrs.

Machine hours 50000 hrs.

From the above figures, calculate overhead absorption rate using
1) Direct Labour Cost.

2) Direct Labour hours.

3) Machine hours.

6. Calculate EOQ from the following information :
Annual consumption 2400 units
Carrying cost 20% of the price
Ordering cost¥ 12 per order
Price X 20 per unit.
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express the same in days also.

4

Purchase of material in AugustZ 3,60,000

Stock on 1-8-2016% 40,000
Stock on 31-8-20163% 80,000.

SECTION-C

A O R O O S

7. From the following information find out Material Turnover Ratio and -

Answer any three questions from the following.

(3x15=45)

8. Prepare a Cost Sheet from the following information for the year ending

31stMarch 2016. '

31-3-2016

Particulars : 1-4-2015
4 4

Stock of finished goods 12,000 30,000
Stock of Raw Materials 80,000 1,00,000
Work in Progress 30,000 20,000
Purchase of Raw Materials - 9,50,000
Carriage Inwards - 25,000
Direct Wages - 3,50,000
Works Manager’s Salary - 60,000
Factory Employee’s Salary - 1,20,000
Factory Rent, Rate and Insurance - 14,500
Power Expenses - 19,000
Office Employee’s Salary - 86,000
General Expenses - 65,000
Sales - 17,20,000
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Income Tax ‘ - 10,000
Dividend - 12,000
Debenture Interest - 14,000
Selling Expenses - 18,500

.9. Fromthe followihg information calculate the total earnings of
i) Mr. Mahesh under time rate method.
i) Mr. Nagesh under Rowan plan.
iii) Mr. Satish under Taylor’s differential plan.
- 1) Standard time allowed 80 units per day of 8 hours.
2) Standard time rateX 16 per hour.
3) Actual output per day of 8 hours
Mahesh — 70 units
Nagesh — 100 units
Satish — 80 units

4) Differential rate applicable 80% of the piece rate for below standard.
120% of the piece rate for at or above standard.

10. Gadag Textile Mills Ltd. supplies you the following information for the
month of March 2016. You are required to apportion the overheads to

production departments.

Production Depts.  Service Depts.
Particulars A B C X Y
Direct Wages (%) 14,000 12,000 10,000 2,000 2,000
Direct Materials (%) 6,000 5,000 4,000 3,000 2,000
Employees (Nos.) 400 300 300 100 100
Electricity (kwh.) 16000 12000 12000 4000 6000
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11.
12.

Light points (Nos.) 20 30 30 10 10
Assets Value (%) '1,00,000 60,000 40,000 20.000 20,000
Area occupied (sq. mt.) 1600 1200 1200 400 400

The expenses for the month were :

Particulars Amount (3)
Stores overhead 3,200
Motive power 12,000
Electricity-Lighting 1,600
Labour Welfare 24,000
Depreciation 48,000
Repairs and Maintenance ) 9,600
General overhead 80,000
Rent and Rates 4,800

Apportion the expenses of Department ‘X’ in the ratio of 4 : 3 : 3 and that
of department ‘Y’ in the proportion to direct wages of Department ‘A’, ‘B’
and ‘C’ respectively.

Define Cost Accounting. Explain the advantages of cost accounting.

The Stores Ledger of PuttarajManufacturing Co. recorded forMaterial X
for the month of June 2016 is as follows - A '

Date Receipt 3 Balance
June Qty. Rate Amt. (3) Qty. Rate Amt. (3)
1 - - - 1000 20 20,000
10 2000 20 40,000 1000 20 20,000
2000 20 40,000

12 - - - 1500 20 -30,000
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13.

15 3000 40 1,20,000 1500 20 30,000
: 3000 40 1,20,000

16 - - - 500 20 10,000
3000 40 1,20,000

20 - - - 2000 40 80,000
25 4000 50 2,00,000 2000 40 80,000
4000 50 2,00,000

28 - - - 3500 50 1,75,000

You are required:
1) Prepare Stores Ledger.
2) State which method is employed in Stores Ledger.

Case Study question (compulsory).

From the following particulars calculate the earnings of Mr. Sunil fora
week under

a) Straight piece rate.

b) Taylor's differential piece rate.

c) Halsey plan.

d) Rowan plan.

No. of working hours per week : 48 hours

Normal wages per hour . 324

Standard time per unit ;20 Minutes

Actual output for the week : 156 units

Differential rates applied . 80% of piece rate for below standard
120% of piece rate for at or above
standard.

Comment:

a) Which wage plan is beneficial to worker ?
b) Which wage plan is beneficial to employer ?
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2016

Paper - | : INCOME TAX LAW AND PRACTICE - |
(Revised)

Time : 3 Hours] ' [Max. Marks : 80

Instructions : 1) Answer all the questions with strict observation
ofinnerchoice in each Section.

2) Question 13 case study iscompulsory.
3) Use of calculator is allowed.
4) Give working notes wherever it is necessary.
SECTION-A
1. Answerany ten from the following questions :
a) What is assessment year ?
b) Give examples of Agricultural income.
c) What are the deductions available u/s 16 of Income Tax Act, 19617
d) Who is resident in India ?

e) What are the provisions of Section 10(10) for Non-Govt. employee
not covered by the Payment of Gratuity Act, 1972 ?

f) What is standard rent of property ?

g) What are the deductions allowable u/s 24 of the Income Tax Act, 1961
in computing income from house property ?

h) How do you treat the expenditure on advertisement in souvenir of a
political party ?

i) How do you treat the receipt of Keyman Insurance policy amount ?

[P.T.O.
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j) Give two examples of Direct-tax and Indirect-tax.
k) What is causal income ? Give examples.

) How do you treat share of profits received from the firm of which he
isapartner? - _ (10x2=20)

SECTION-B
Answer any three of the following :

2. Mr. Arun of Karwar leaves India for the first time on 1;6-201 2 to England
to leave with his son. He came back to India on 1-7-2014 and left to
China on 1-7-2015 to leave with his daughter. He returned to India
on 1-2-2016.

Determine his residential status for A.Y.2016-17.

3. Mr. Hiremath of Hubli, an employee of Government of India is drawing a
monthly salary of 60,000, Entertainment allowance of Rs. 7,000 p.m.
The other taxable allowances are Rs. 40,000 p.m. He paid professional
tax of Rs. 2,000 during the year 2015-16. Calculate his taxable salary
for A.Y.2016-2017. '

4. Mr. Patil of Haveri received Rs. 8,00,000 as gratuity on his retirement on
31-3-2015. At the time of retirement his basic salary was Rs. 20,000 p.m.
and dearness allowance of Rs. 10,000 p.m. (50% was considered for

retirement benefits). He has worked for 20 years and 6 months.

Calculate exempted gratuity of Mr. Patil, if he is not covered by payment
of Gratuity Act, 1972.
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5.

Compute Taxable and Exempted House Rent Allowances of the following
assessee for P.Y. ending 31-3-2016.

Particulars B of Goa (Panjim) D of Delhi
Rs. Rs.
Salary for the year 3,00,000 5,00,000
HRA received during the year 30,000 50,000
Actual rent paid 35,000 1,00,000

Mr. Nayak started construction of House at Navalgund on 1-1-2009. He
took loan from S.B.1. on 1-7-2009 of Rs. 10,00,000 at an interest of 10% p.a.
The construction was completed on 30-6-2013. The house is self occupied
and its muncipal value is Rs. 15,00,000. He paid muncipal taxes during
P.Y.2015-2016 Rs. 30,000.

Compute Income from House property for A.Y. 2016-2017.

What are the disallowed expenses u/s 40 of Income Tax Act, 1961 while
computing income from business or profession ? (3x5=15)

SECTION-C

Answer any three of the following. Question 13 case study iscompulsory.
Each question carries 15 marks :

8.

The following are the incomes of Vinay for the previous year 2015-16.
a) Income from agriculture in Nepal Rs. 50,000.

b) Rent from house property in Europe Rs. 1,00,000 half of which is
received in India.

c) Interest on fixed deposits in S.B.M. Rs. 50,000 (of which he paid
Rs. 5,000 to old age home Dharwad).

d) Income from business in France Rs. 1,00,000 but this business is
controlled from India.




2346 - E02-VSC-R-N-16 =4 L0 O O
e) Dividend earned from L.T.C. Ltd. Rs. 25,000.
'f) Royalty received from mining company Rs. 30,000 in India.
g) Profit on sale of securitieé of Nestle Ltd. in Germany Rs. 25,000.
h) Pastuntaxed income brought to India from France Rs. 50,000.
Compute the Gross Total Income for A.Y.2016-2017 ifhe is
i) Ordinary resident |
ii) Notordinarily resident
iii) Non residentin India.

9. Mr. Mahesh provides you the following information regarding his salary
forP.Y.~2015-2016.

. a) Basic salary — Rs. 30,000 p.m.
b) Bonus —one month basic salary. |
c) D.A.p.m. (entersinto retirement benefit) — Rs. 20,000
d) CCA-Rs. 1,000 p.m.
" e) Project allowance —Rs. 4,000 p.m.
f) Medical allowance — Rs. 2,000 p.m.
g) Rector allowance - Rs. 4,000 p.m.
h) Family allowance —Rs. 2,000 p.m.
i) H.R.A.—Rs. 8,000 p.m.
j) Entertainment allowance — Rs. 4,000 p.m.

k) He is provided with a car for personal and office use. The car is of
12 H.P. owned by employer and all the expenses aré paid by employer
including drivers salary.

) He has achieved sales of Rs. 4,00,000 on which he is paid 10%
commission.

m) He is living in a rented house and paying a rent of Rs. 3,000 p.m.
n) Employer is contributing 15% of his salary towards R.P.F.
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o) The interest credited to R.P.F account during 2015-2016 is at 9.5%
Rs. 10,000. '

p) He has paid Rs. 2,400 as Professional Tax for 2015-2016.
Compute income from salary of Mr. Mahesh for A.Y. 2016-2017.

10. From the following Profit and Loss Account of Mr. Ramesh, compute his
Business Income for the Assessment Year 2016-2017.

Profit and Loss Account

"To Rs. By Rs.
Salaries to staff 30,000 Gross profit 1,72,000
Salary to proprietor 6,000 Interest on Govt. securities A4,150
Rent 2,000 Capital gains (Shortterm) 2,500
Printing and stationery 500 Bad debts recovered
Trade expenses 1,300 (previously allowed) 300
Sales tax 1,200 Sundry receipts 250
Bad debts reserve 2,400
Bad debts 600
Telephone expenses 300
Interest on capital 3,000
Interest on foan 700
Donations 200
Repairs to furniture 350
lLegal fees 1,250
Pooja expenses 500
Depreciation 3,900
Net profit 1,25,000

1,79,200 | 1,79,200
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Other informations :

1) Trade expenses include Rs. 300 being penalty paid to customs
authorities. |

2) Stationary include Rs. 100 being cost of college books of
Mr. Ramesh’s son.

3) Legal expenses are incurred on purchase of land.

4) Depreciation allowable as per rules is Rs. 3,000.

11. On 1-7-2007 Mr. Akash purchased land for Rs. 4,00,000 and started the
construction on 1-10-2011 the house was completed. Half of the house
was letout at a monthly rent of Rs. 20,000 and remaining 1/4 is used for
his own business and retained 1/2" for his residence. He furnishes
following details of his house property for P.Y. -2015-2016.

Rs.

a) Municipal value of the house 200,000
b) Standard rent 2,10,000
c) Municipal taxes paid | 21,000
d) Interest on loan taken for construction of house

i) During construction 50,000

i) DuringP.Y.2015-2016 | | 40,000 °
e) Repayment of loan instalment 80,000
f) Unrealised rent for P.Y. (allowed as per rules) 10,000

g) The letout portion remained vacant for 1 month during P.Y. 2015-2016
Compute income from house property for A.Y.—2016-2017.
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12. From the following Receipts and Payments Account for the year ending
31-3-2016 of Mr. Hegde, Chartered Accountant and tax consultant,
Karwar. Compute the income from profession for A.Y. 2016-2017. He
keeps his account on cash basis.

Balance b/d
Auditfees
2015-2016 50,000
2016-2017 25,000
Dividends
Share of income from firm
Winning from lotteries
Presents and gifts
Tax consultancy fees
Arbitration fees
Accountancy work
Financial consulting fees
Project and feasibility
report fees
Examination investigation
fees
Rent from letout property

Other information :

computers Rs. 12,000.

7. 2346 -E02-VSC-R-N-16

Rs. Rs.

- 20,000 Office expenses 25,000

Salary to staff
2015-2016 20,000
75,000 2016-2017 15,000 35,000
4,000 Institute membership fees 3,500

6,250 Professional books 4,000
10,000 Stipend to article clerks 22,500
20,000 Computers 20,000
30,000 Repairs to computers 1,000
20,000 Car expenses 4,000
50,000 Intereston loan 6,000
30,000 Income tax 3,000

Purchase of car 50,000
10,000 House hold expenses 4,000
Balance ' 1,44,750
10,000 |
37,500
3,22,750 3,22,750

a) Half of the car expenses were used for private purpose.
b) 50% of the loan taken was used for personal purpose.
c) Depreciation allowable on car Rs. 7,500 on books Rs. 4,000 and
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d) Office expenses outstanding Rs. 1,500.

e) -Commission earned but not received Rs. 6,000

f) Out of the gifts Rs. 5,000 received on his marriage anniversary and
remaining were received from clients.

13. Case study (compulsory):

Mr. Anand is an employee gives you the following information of his

salary for P.Y.2015-16.

a) Basic salary Rs. 40,000 p.m.

b) D.A.Rs. 2,000 p.m. and 50% of D.A. enters into retirement benefit.

c) C.C.A.Rs. 500 per month ~

d) H.R.A.Rs. 5,000 p.m.

e) Commission (1% on sales) Rs. 8,000.

Compute taxable HRA from the information given above for each of the
following situations.
a) Livingin his own house
b) Living in rented house at Karwar by paying Rs. 5,000 p.m. as rent.
c) Livingin rented house in Delhi by paying Rs. 10,000 p.m. as rent.
| (3x15=45
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Fifth Semester
Paper II - ACCOUNTING THEORY
(Revised)

Time : Three hours Maximum : 80 marks
. All Sections are compulsory.

Question No. 13 is compulsory.

SECTION A - (10 x 2 = 20 marks)

1.  Answer any TEN of the following :
BUAT 0INF)TTTe B3, ev3020 :

(a) Define the accounting theory.
&5,50% 2050030 59,3308 Bewd.
=2 @ ) Q

(b) What is positive accounting theory?

0328 STZOR, AR08 HOFYETO?

(c) What is accrual basis system of accounting?
BPRT &0 scsoaojo diiaaﬁ&aoddeab?

(d) What is sociological approach?
::' TOS0ET IINE HoTVBERO?

(¢) What are the four theoretical concepts of accounting?
SLA:E 3w03% Fosgod Bevar TR, BR00.
= [~) [ ¥

() What do you mean by accounting practice?
SEA-ER o) g3, 3§ﬁ@QM6 D0TBeRO?

(g What is current liabilities?
w52d) wERLRIN HoBSER?
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(h) What is fixed assets?
AT HorTes>?

(i  Mention the revenue producing activities (any two).
Fowaad N33 IPBOS zswwsne;@l 8920 (Wewows 2TB).

()  Write two basic concepts of income.
DTB BT0HT Soee3es ﬁcgoam@mq (AleeNlo}

(k) Give any two demerits of accounting standards.
5,503, J0IBoBRY Wesod V@) BVORBHOINYR) AeRD.

()  Expand the following :

BN D300 :
@) ICAI
() IAS

SECTIONB- (3 x5 =15 marks)
Answer any THREE of the following :
WezoT Soesd, eu300 :

Explain the need of accounting theory.
65&3334,2,03003(3 eada’zsﬁéodom* JT0D.

Explain the going concern and monetary unit postulates.
WBOT® SBaivs %dmd ) BT BRIT Sweeges (‘()odoabﬁefaﬁg’l 029,

Find out owner’s equity under Residential Equity Theory from the informatio
given below :

4
Fixed assets 8,75,000
Current assets 2,50,000
Equity share capital 6,25,000

Preference share capital  2,50,000
Profit & Loss A/c (credit) 62,500
Reserve Fund 62,500
Creditors 1,25,000
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& FI SI0RDIT InH30VOT ‘Bea 6?8;'3’ ?om‘aoé SE08 Boed WESTT OB, FOBO

&BOVO :
%

2023 1¢D 8,75,000
23093 rieh 2,50,000
BT, BeT0 WOBIY 6,25,000
2985, Be0O WOBTY 2,50,000
g3 303) B, W03 (230) 62,500
5200083, A 62,500
o )aled) 1,25,000

Explain the criteria for recognise the revenue.

F0me0d NOTOSRE BRVBOBNFT), IR

Give the list of AS issued by ICAI (any five).
ICAIO3 QeBTOE AS adndoddR), Aedd (Wezad amb).

Calculate the value of stock at the end of the financial year 31.12.2016 from the

following particulars :

391t QeBTOS ASTNY 8PTRES, 31.12.2016?% 'awoos (iala) da‘arosﬂg Do AN W3S IFFO™D

Materials  Cost (Rs.) NRY (Rs.)
ITBONYD ¥S (Bw.) ONF.e30°.58,. (Twe.)

p 9,000 12,000
Q 21,000 18,000
R 27,000 30,000
S 30,000 33,000
T 36,000 27,000
|



10.

11.

Question No. 13 is compulsory and any TWO from the remaining :
3 13 F@a0doseNd. evon 33nYY Wewow OB, ev3d :

7350-E12-VSC-R-N-

SECTION C - (3 x 15 = 45 marks)

Explain the roots of accounting theory.
dﬁéaaﬁﬁm%osw Soeonds) 93020,

Explain cost principle, consistency principle and conservitism principles o
accounting.

J5aR s e 33, mmdﬁséod) 33¢ 3B BoT @B FowodLT 3:«31a m}d}* D30%0.

()

What is expenses?
ADWOFNL DOTWTeR0?

Discuss the Revenue and Capital Expenditures.
gowaad Serieb o) worBTe S3ried 300 182320,

Akash Co. Ltd. uses the adjusted selling price method for estimatin
monthly inventory balances. The following datas for the year endec
31.12.2016 are available :

Datas for the year ended 31.12.2016 are available :

4
Stock (inventory) on 1.1.2016 3,75,000
Total Purchases 5,81,250
Total Sales 10,37,500
Purchase returns 18,750
Sales returns 37,500
Freight 1,25,000

The company makes a gross profit of 25% on net sales.

Calculate the cost of the stock (inventory) as at 31.12.2016.

&508° 50. &.000 Beowessd e B3 ST eusolechy I8 doriy ¥0ZF DoRAT wal
303 ORI, B. 31.12.20161& VW03 B FYNT ©03 oz YT

4
Tomd B, 1.1.2016 3,75,000
Wb, DO 5,81,250
W) DY e 10,37,500
DBeD o) 18,750
e Jooe 202y 37,500
M3 welrt 1,25,000

ge. 25 oK), VI SRoeLr Soees RRO RIS, BoTDodn SRB>I.
31.12.20168 womass3 (wod)ad WSabR), 50B> LBV,

4
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(2)

(b)
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Calculate the profit by adopting cash basis system and accrual basis
system of accounting from the following data :

Cash sales — ¥ 3,75,000
Credit Sales - ¥ 3,00,000
Total expenses — ¥ 3,00,000 (out of which ¥ 75,000 still to be paid)

B S9NT ©0% B0BY0S Srcd BEEs IBI R 3ABE ¥FRT FFob TR, BROY
PHTY, B0B) LBOND :

SR Soees ~ dw. 3,75,000
evd) I00ek3 - Bwe. 3,00,000

wbd), Fesried - gw. 3,00,000 (150 dw. 75,000 ‘ad@j&d‘de&d)

What do you mean by accounting standards?
5,507, 3THBML H0BTER?

Explain the objectives and importance of accounting standards.
S8R, SRTToENY evdd eBrieR), R03) SoBIZIY D3020.

Arun manufacturing company gives the following particulars, prepare Stores
Ledger account according to LIFO method :

1.3.2017 Purchased 5000 units @ % 10 per unit
5.3.2017 Issued 2500 units

10.3.2017  Purchased 4000 units @ ¥ 8 per unit
15.3.2017 Issued 3000 units

20.3.2017  Purchased 3000 units @ ¥ 6 per unit
25.3.2017  Issued 3500 units

30.3.2017 Purchased 2000 units @ ¥ 4 per unit
31.3.2017  Issued 4000 units

You are required to answer the following :

()

What is the value of closing inventory according to periodic inventory
system?

What will be the effect on Closing Stock under LIFO?

When the company wants to satisfy the shareholders will it be advisable to
continue LIFO? Why? ;
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8TOH emaaddm F0ZNadD ﬁJaégj o FYAR ATJONYorw LIFO amawa& (S nte) ‘-',;vaedeses‘
.:ua:a“cmaxzl 30370030 :

1.3.2017

5.3.2017

10.3.2017
15.3.2017
20.3.2017
25.3.2017
30.3.2017
31.3.2017

DBEBRB), 5000 0o 38 b B, 10 Gog

DeBR), 2500 odrodestrizy

DDEBI) 4000 0hODEF I B8 AT G, § Gog
DeBR) 3000 odreessrish

DO, 3000 abOREFTIo 33 Ao LT 0. 6 Gog
DeBR) 3500 odrodestrishy

VOB, 2000 DR B8 AoV T, 4 Gog
DeBR), 4000 odrodessrivy

eI) B FINTZ)nent RB00%ITN HVZ020 :

(@) dab3zads DIV TOBeers :-’)623(11) 590 8033 3080 23 DR)?

(b) LIFO E)’doéab T,590 8033 TR Boees BT FOHBIZOSeRO?

(€) 203 Begk 0B BeBomdy we&asamg ssdedzen LIFO smC;SQban S00ROZ[ORT0I3
5’0%03)&3{ ACBBOTIE? D87
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B.Com. DEGREE EXAMINATION NOVEMBER 2017. )
Fifth Semester
FINANCIAL SERVICES -1
(Revised)

[1:— - Three hours Maximum : 80 marks

Answer all questions according to internal choice.

3
i

Q.No. 13 (case study) is compulsory.

Simple calculator can be used.

SECTION A — (10 x 2 = 20 marks)

Answer any TEN of the following questions :
NS IeTorn B3 o—-’ﬁédﬁe?ﬁ e300 :

What are fund based financial services?
D 353003 BoBaR) FEINE 0TBTETO?

What is cross-border lease?
ecﬁ@rﬁéoi) rReed orsdeso?

What is rematerialisation?
200D 7236300 HoTTERO?

What do you mean by “Close-ended Scheme of Mutual Fund”?
ZURDT AHOD mzsuw o3pems orBesI?

What is online trading?
©030° 250 FBHT S0TBERO?

What is non-recourse factoring?
wSoe3ed AW FYTOON® doTTeRO?

What is Loan Syndication?
0T Bt BUR H0ETesO?

What is the difference between Leasing and Instalment Sale?
Reed 030 Fo3o BT VAN BRIS YOI FVRD %3‘257",”9‘}‘_‘3%3@2’-

What is forfeiting?
Fpeotssce3ont HoBvdesy?
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() Whois depository participant?
ROMRBT ToNERT 0BT 03dT?

(k) What is portfolio management?
SpeePgpedodoe Zcns: 0TBERO?

(I}  State any two regulations of financial services.
BEITIRY FeINY cdnI)Te S0REY Rod08 20T a-ammrwmq 8920,

SECTIONB— (3 x5 =15 marks)
Answer any THREE o the following questions :
YN 03RF)DewsR Soevy BIRIN ev3020 :

Explain any two fee-based financial services.
0dRJ)Te 0B 5\)% 353003 B0z Je3ny FF0NY B3 AFDLD.

State the objectives of depository services.
BB PCLID Besne mc&;}eéd%‘aﬁ% DI0JD.

Distinguish between financial lease and operating lease.
BT 1iees 03 a-)obarsgf teed ANy 8BS :gsa%ﬂrw BOO WBoWDY.

Explain briefly the functions of a factor.
PYTOW DG F200FNAY 82030 R03Z TN WT0DY.

State the functions of CDSL.
CDSL© ﬁaabrm’ai% 3920.

What are the advantages of Mutual Fund?
DVRDT ARG BITPOIRYIT)T)?

SECTION C — (3 x 15 = 45 marks)

Answer any THREE of the following questions. Question No. 13 is compulsory
(case study) :

FINT Se5or Soedd BINIr ev3d0. 8 %0 13 FB0005N00I T (3350 o5 0d)
What is financial service? Explain the importance of financial services.
BTIVT FESNH D0BBERO? BT BeSnies DB 0AIODRY HTO2D.

What is lease? Explain the merits and demerits of Leasing?
rfeed domBemO? resdody eaaio&acﬁrieimul I V) emmme)a’w@ 3020,

What is Dematerialisation? Explain the procedure for dematerialisation of shares.
¥O3TT N D0BBCR? <':a"c’ci)r1<:}w\;:l BIRICET L IRBEL QBOS AT 3,3,030n¢ 50030 wBoD.

2
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What is Credit Rating? Explain its objectives.
238 0 APFORODT H0TTBERI? BT LT eBTIIT, DI3VAD.

RTC Ltd. has been analysing the firms policy regarding computers, which are
now being leased on a yearly rental basis of Rs. 1,00,000 per year. The
computers can be bought for Rs.5,00,000. The purchase would be financed by
16% loan repayable in 4 equal annual instalments. The company uses straight
line method of depreciationn. Corporate tax rate is 50%. Computers would be sold
for Rs.2,00,000 at the end of 4 years.

The P.V. annuity of Rs.1 at 8% for 1-4 years is 3.312 and 2.798 (at 16%, 4 years).
The following table shows the interest on loan after 50% of tax and PV of Rs.1 for
each year :

Year Interest on loan after tax P.V. factor

ended (1-50% tax) (0.08)
Rs.

1 40,000 0.926

2 32,104 0.857

3 22,945 0.794

4 12,349 0.735

Comment on whether computer should be bought or leased.

e300, 83.2. Q03 n)O,oOd.l) neow oi)oéﬁejab Reed espa8n Soedd Twe. 1,000,000 waBriodb
Seand T3¢ IRE a')ecéoa-a neos 0doo3 60633 35 &)eaai)ab TOS08FROZW. wre n)On)OiD
reos abogndsy, 0.. 5,00,000 S8 a)ae&n)wawaom. ¥TTY3* DOCD mmwaw@améesm
16 ©od DI, IBVT  DIXET Fo3oNgY B ToT3 TNPREIT[0Z WTVOTHVTT TOT 551"’@
SIPBERNIR)YTO. AOA)Qil) d¢d 33T wd;%ojodo VI3 B2EROBTIZ. S ,Jo,m 3egwe 5030 301
eaagsobmmgd. meg;&e IRET d:osgo.b% nes ooz @y, T 2,00,000@& SI00E3
TIRBWBITO.

desms 80 3BIW WIWod 1 Dor¥ 4 IReF, Swe. 10 o ta) &5;) 2P 3.312 D3y 2.798
(Besmo 16 Cod 4 oReF). Sesmo SO0 301 3BT D03 O, 1 XD ST WO T30
o BoedT R0 B FINT0ICLZE

IRE 301f 5B ToITH WA AWE Spw03
(1-50% 301 (0.08)
ox.
1 40,000 0.926
2 32,104 0.857
3 22,945 0.794
4 12,349 0.735

nes Qi)o@dﬁ% DO IerUcdoe e rtegdod Soed IBodbeiessec aaigg)dd o030
QT3 0.
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Case Study (compulsory) :
300 o7, 0L (FBodSNCLZY) :

()

(b)

(©

Mr. Vinayak is a dealer in computers, furniture, Sound Systems, land and
buildings. He also gives these items on lease basis. But, he doesn’t know
the type of lease he should adopt to give these items. Advise him the type of
lease suitable to the above items with reasons.

. ITIODHTIITL Meed 003, »eBRCTET N, FP0ES PRPF, PR 3B FEIENY
IIFTONR), B DY, SRNIDY, 1leed B8pevy Sean Ao WODAWRT. ST, B e,
SRR, rfesdod adns IT0FY, dervSBord 390LWNWT. Hoees VAT JRonrt
od BB50a rfeedadn ARTJMIZTIO aabq@qu TV 343 ATO2D.

Mr. Suresh is a middle-class employee in a private sector organisation. He
wants to invest some portion of his monthly savings in shares.

What best measure do you suggest him for investment as a stock market
expert? Briefly explain.

wxh Ivobd 30.‘;3@01)@1 B03ez* D PR Ines FOFCmNCITIE. WSt 3, 3ony
HVYIDODLTY "_‘L% zpaﬁsr\izt 3edondd erdhzen 'azij’nosgd

Bedo S000FES, BOIZTN Bt Beo SABAZED iR FOBNYR) AAWRZED? BogZ=oN
DD

Mr. Surendra wants to invest his money in mutual funds. Advise him about

various schemes and institutions for investing his money in mutual funds.

D, RVOTR BB FowEed, B Jewhted RIS, TUIPT ONYATT
225 odpenmnied S8y Fogne 030 303 AeRD.
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B.Com. DEGREERE EXAMINATION NOVEMBER 2017.
Fifth Semester
INDIAN ECONOMY

COMPULSORY
(Revised)
Time : Three hours Maximum : 80 marks
. All sub-questions should be answered at one place continuously.

Quote facts and figures to support your answer,

Answer to all sections should be written in the same answer book.

SECTION A - (10 x 2 = 20 marks)

Answer any TEN of the following questions in 2-3 sentences each :

3INS adnmesce B BFren, BBa30008.8, 2-3 T8¢ euzdA -

(a) Define economy.

e3BrE3 aa?san%m.

(b)  State the meaning of Economic growth.
BT WITeIrtad wre Bewd,

{c)  Give the meaning of primary sector.
TBAT IO oge JeBd.

Calculate GNP from the following data :
NNP =% 70,000 Cr.
Depreciation Cost = ¥ 10,000 Cr.

FIAT 08 ﬁoa%rw ABI0HROT 23 7., o~:bmnL FORD &HBOWY :
ON°.28%.&. = B, 70,000 Bocks,
3359 ;3% = 0. 10,000 2okl

Expand DPI.
B.9.e3035°. D300,
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(ff  State the meaning of unemployment.

&)docmzscricﬁ WP HeYO.

(g9 What is sex ratio?
AOMTITIS D0BTERO?

(h) Give the meaning of urban migration.

S0 Sedodh e¥ps JeRD.

(i) Mention two objectives of five year plan.

023 TOAFS 3N HTBO emdoesméabdéﬁa?.

2

)  Write the period of 11th five year plan.
118¢ D03 sSoaes odeewdodd BIY WSO,

(k) What is food self-sufficiency?

3590 madoouaﬁ 20BBeR?

()  Who is the deputy chairman of NITI Ayog?
Qed es03penE SVEET> 0dRTo?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following questions :
YN 23058 SIoRTO o—-ojéqm?ﬁ V302D

Distinguish between economic growth and economic development.

B3 WIS OR) BPFT @@%ﬁ@‘&@ﬁ%’ BBEODS dzsabzsz:’rwdod 3920.

Explain the trends in size of National income of India.

270030 Tady g0 et M3 BOT WESSTOTY DSV0.

Write a note on growth of population in India.

272030, 25803y WBedriod Boees &3B£8 WSOWD.

Describe the objectives of 11th five year plan.
118e J0w Seded 0dezsod mzsoesﬁe;mqscsrz@.
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Write a brief note on Green revolution in India,
Po030Y B33 53,08ad Joees ez &33£3 w00,

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following questions. Question No. 13 is compulsory :
BINS et Iy SInert 03020, T3 Soa% 13 66%01)&3}\53 :

3

Discuss the causes and consequences of Population explosion in Indig.
ELIalU] aswfo’oa)% 73@;&.36 plefsTa L)) S8 a’ammwmq w320,

Evaluate the achievements and failures of five year plans in India.
P0IBTS F023 oz odnessng TS, S0 %qﬁ%éﬁ@d& JOIIBELD,

Explain the various sources of agricultural finance in India.
W03E). A Bz A m@wa& QT020.

Case Let :

Since 1990, the UNDP has presenting the measurement of Human development
in terms of HDI in its annual Human Development report. The HDI js 4
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There are not only three indicators of Human development but it too constitute of
infant mortality and nutrition. HDI measures relative rather than absolute
human development, attachment of weights is arbitrary, focus away from the
high in quality and alternative approach.

Questions :

(a) Whatis HDI?

(b) What are the three social indicators of HDI?
(c) How HDI value is measured?

(d) How are countries considered as high, medium and low level of Human
development?

(¢) Mention the limitations of HDL

%3 :Dd?s:mai :

®

1990 dow@ UNDPad 38, SoaFs I0DOLE, T3 I Rob 0B CATREY, JPTS
0PI HOD weidodom), BRS IR 2008, HDI an0 2e3q e0d;, IobET g S8
5230 BSH SN0ITT Z000) TOSIOUT 233Ny Bo0dReR3 m%oﬁmﬂd. 2RO I wkd),
Bedeod 30 BLITT WYY 38 Sone3e. HDI 2w Begror 0d0F;, 830 DR B
2BeSs SokFoIB JRD I pIIAYeT wed SnEeRYE. HDI 3P 0 dont 13 38 I03
200B0038. 0.5 308 3BN 359y, 0.5 Bows 0.8 338 F) 0.8 303 VBT I, BROVTOT
deangry, oZHmeN 3R, DY o3y 1ok, BowP S008I deangdond
IORIROBIZH. T, B0253,08, wBB0H 000398 AIWINTT HDI S0381eoke), HDIgE.
Fe30 0RTO RAL0TNFHS vese 38> B0 33 FPF0BRYT), 3 w9rteoco3n. HD!
AogpnrNod mey STS TIASRAISV IS wud InEIE. I3 A0 Qedrs BE3 AT0BB
Io3nos FBCIB. AW VYT BRBERCOVBOT  DTNRATRIDT, BodREod BRVOROFT
3000308 283y HDI BR0DT.

B3R

(@) HDI 2063es0?

(b) HDIZ 3000 TRPET BAWENFIH)?

(c) HDIG IPLBT, Eert v98 INBRRIHTO?

(d) oy, oG 03 FNF, BRI w@%&odeéﬁq}oc&o et IONSRSPROR)BO?

() HDIB 23INYIR?

e e
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Fifth Semester
Paper I - INCOME TAX LAW AND PRACTICE — I
(Revised)

Time : Three hours Maximum : 80 marks
Answer all the questions with strict observation of the inner choice in each Section.
* Use of simple calculator is allowed.
Question No.13 case study is compulsory.

Give working notes wherever it is necessary.
SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions of the following :
8 BYNTIHnYS Wewars H3Y, ou3020 :

(@) Who is assessee?
FOW3 20w 030307

(b) What is assessment year?
00308 SIF onSesd?

() Who is resident individual?
BBRT, VIed 38 0BT 0d3TL?

(d) Who is eligible to get deduction u/s 16 relating to entertainment allowance?
and state the maximum amount of deduction.

so0 160 wBabq dincdons Wiy SAIAYSEE vEFh abed? Sok)
SBIYIRIS 1108, 30330, BeO,

() What do you mean by Gratuity?
33 U MUITH 20BSeRO?

()  What is Perquisites?
R neh 05T eR?

(8 What do you mean by annual value?
JAFT So’e)cgs d0BBeRH?
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(h) How do you treat unrealised rent, when realised while computing income
from house property?

o eovod  word e;swaodadakg{ 666 ToBoDN WS Wl wowan Hen
JIOnedHDd?

()  Who is specified employee?
ARFR, FOBTT 08T 0350007

() State the provisions of Income Tax Act, 1961 relating to Recognised
Provident Fund.

30F3 I3 PIF; APridrt smood 301t saody 196 18€) 20 QDTN WI0D.

(k) What is bad debts? How do you treat bad debts recovered which is
previously discovered, while computing income from business.

W00 Foongordeso? mézmdaod 2083 escsao:baiz&g{ dii Hovoen &ods Sdﬁﬁaﬁe&
WRONTLI soone SBeenten St IORSHI0?

(]  What is depreciation? State any two methods of depreciation.
AT 20BVERL? IITY0AD AdRF)BIETR TR AP, wIWD.

SECTION B — (3 x 5 = 15 marks)

Answer any THREE questions from the following :
Wevor3 Soe0Y, eu3d :

Mr. Kiran a resident of Bangalore went to Bangladesh for the first time o
1.8.2015. He came back to India on 1.1.2016 and left to Japan on 15.9.2016. F
returned to Bangalore on 1.1.2017.

Determine his residential status for the previous year 2016-17.

Worie 03 Qe §e 30m 9S8 BFeos 1.8.2015 dord I PR wedrt wore, Weds, Boerozy
A3 BIeos 1.1.2016 dord Po03g SH0Y wory Fo3T BIeos 15.9.2016 Jod S
Wedd, Boerb3ns. w500 BT 1.1.2017 Sord wWorieedrt T3 wosd.

BHTID IAF 2016- 17% Q30 ATRT m@d&aﬁdaﬁi AT D

Mr. Franklin, working in “Leena Ltd.” retired from service on 31.12.2016 and :
gratuity of Rs.8,00,000. At the time of retirement he was getting basic salary
Rs.20,000 p.m. and dearness allowance of Rs.10,000 p.m. (75% enters i
retirement benefit). He was served for 29 years and 8 months. The payment
gratuity covered under “Payment of Gratuity Act, 1972”.

Compute his taxable and exempted amount of gratuity for the assessment y
2017-18.
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“Oemd AaLNT B Fo0dE DBF&HROZTIT Fe 353,087° 9RO Dwos 31. 12.2016 dowd Aem
V3 Bood, AJ3 MU evsET S, 8,00,000 z@dcOzd. 25 V8 0B rRd Soee
Se38 . 20,000 wmone D, P38 de. 10,000 (Besmo 75 O, 033 Peoyd?
SORefROBOIY) neod BB, AT 29 IRe 8 3oy Bews R} B8 BR0BTISYT.
S0 ZBRT A TS vDEE, ‘08 oI eusgE Fo0od) 1972 dobIwcomed
JBDTLFT.

B0IT0T IRF 2017-188 301 w93@>x S3B) 301t AR08 TBAL) 033 rPo3 NISFTID,
S5, Hos.

From the following particulars compute taxable and exempted amount of House
Rent Allowance of two assessees

Particulars Mr. X Mr. Y
Basic salary p.m. 30,000 40,000
Dearness allowance p.m.

(50% enters into retirement benefit) 20,000 20,000
C.CA. pm. 1,000 1,000
House Rent Allowance p.m. 8,000 10,000
Actual rent paid p.m. 4,000 8,000
Place of working Devangere  Delhi

B YN R eV telaiartele] ma&,sosgw% 803, 3N WIS I 3drtovOT dweors
IFoOIT o 28 z;i%ododzl 5, 503

JITREH 8eX 8eY
3,3 3ond 000 eI 30,000 | 40,000
B3 3orie 3083 233, |
(3@ 50 o) A3 Perdd Feco3) 20,000 20,000
%3 3on¢ §riC HdH0 (AL 1,000 1,000
T3 Sone I Wt (A 8,000 10,000
33 3orid IR R0 wodnt ) 4,000 8,000

BOR A &HBOITOI a¢ Devangere  Delhi

Briefly explain the provisions of Section 24 of the Income Tax Act, 1961,
el 3078 Fo0d) 19613 30 24 &ob&riefdg{ﬁoﬁ@’mﬁ ATD20.

3
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From the following receipts and payments account, compute income from
profession for the A.Y. 2017-18 :

Receipts Rs. Payments Rs.
Balance b/d 10,000  Staff Salary 50,000
Consultation fees 1,25,000 Rent of clinic 30,000
Visiting fees 50,000 Telephone bills 5,000
Lab fees 10,000 Drawings 80,000
Dividend 10,000 Donations 20,000

Balance c/d 20,000
2,05,000 2,05,000

8 3N 2‘:;%3 S03) T3 Wadaod 300805 IR 2017-188, F3o%0d 2008 BTADITBY

dJs, Hod :
2e83ried ) 38R0 d.

T80 Bex, 10.000  dwodnd Se3 50.000
e Boe 1,25,000 RS wedn 30,000
23 Boo), 50,000 GROmHE D), 5,000
Zodnermood 308 10.000 398 w0 80,000
0357208 10,000  SeSAnw 20,000
033 8oy, 20,000
2,05,000 2,05,000

State the following statements — True or False :

(a) Income tax paid is disallowable expenditure.

(b) Agricultural income earned in Germany — fully exempt.
(c) Car perquisite is taxable in case of specified employees.
(d) Depreciation means increase in the value of assets.

(¢)  Self occupied property — Annual value will be — Nil.
BUNT BePBrieh “3D” vgse “3F)) BeY

(@) a0k 301 HBLTOHBO 30R0RIT DWOF.

(b) wROFD0DS, NPT F& BW0I — FPEF 3018 oD WITBIZT.
(©) &Pz, FBCD 393, FoT0 POyl T SP3, 301 TS3B0TT0.

(d) 3ITY0D VP eynY 359 éz%;’wd)do.

(e) g&mﬁ@ WIRIT BINY TOAFT da’acgszj) EVCIN) QLI T.
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SECTION C — (3 x 15 = 45 marks)

Answer any THREE of the following. Question No. 13 is compulsory. Each
question carries 15 marks :

& FIAT 0IRITRTOHN Foedd a:j%ri%’r? HUZ02. :.;% Soa% 13 Gaaao.baaﬂd)g’d. I3 aj{lﬁ
15 es08ne -

The following are the taxable incomes of Sri Rama for the previous year 2016-17 -

(a) Income from salary received in India for the service rendered in Germany
Rs.1,00,000.

(b) Interest on South Africa Development Bonds (50% received in India)
Rs.70,000.

(c) Income from agriculture in Japan Rs.40,000.

(d) Profits from business in Devangere Rs.2,50,000, the business being
controlled from France.

(¢) Income from house property in Mysore received in London Rs.75,000.

(f)  Profits from business on Srilanka, the business being controlled from
Pakistan Rs. 1,50,000.

(8  Dividend from TATA Ltd. Rs.25,000.

(h) Income from business in America, the business is controlled and managed
from Bengaluru Rs. 1,50,000.

()  Past untaxed foreign income brought to India during the previous year
Rs.1,50,000.

()  Profit on sale of a building in Mumbai, received in Canada Rs.1,50,000.

(k) Interest received from Mr.X, a non-resident, on the loan provided to him for
a business carried on in India Rs.25,000.

Compute the gross total income for the Assessment Year 2017-18, if he is
(1)  Ordinarily resident

(i) Non ordinarily resident

(iii) Non-resident in India

8¢ 09 IO BeovaR> IR 2016-170 3011 wesmos 33) B0l &56(19}(6%69 FYNT oI

(a) BREA0DE Bess ;i’e?“.%ac;a'%ﬁ PoU3BY IET I3 esmood B, 1,00,000.

(b)  wEe ey VIID VT IINnY Roed W& de. 70,000 (Besms 50 OR), 172030
SBobeRNS).

() wasEgob §ac0s w08 emead ds. 40,000,

(d) mzﬁmrﬁdo.bc?ﬁ SYTOBT  wors [IETA S o VY 2,50,000, s 5TV P Qors
K)odoo@ﬁoamgd.

(e)  BRAOBATT o BR200008 Wor estaal), 0BT, BB e dwe. 75,000.
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) 8e005BdTON w%mdaow WO €Y, B8 ;S%md@ T3IR0T  AoDodRLBIITS
gw. 1,50,000.

(g) ‘&35 QoL BT word wezgeod Bn. 25,000.

(h) 23ore,edor AIZVBIR, ¥Boe0FFOT S9T0RT Wor eyl dw. 1,50,000.

(i) T8 BeozeRd IAFBY, PoUSE, ITLT HoD8 IRFAYD. NPT IBe8  eswood
gw. 1,50,000.

() SwodSIToD FWE S02E300T WO LIYDI), 3BT IBRFTo Jwe. 1,50,000.

(k) 2033 engens de¢ X o300 U3EATON JymTTHN Bek, s 30ed8 W
dw. 25,000.

300808 IRe 2017-188, 3307 ), &52003T), I3, Fo3, 0T Feg 8,e0s30 VITY
(i) =BT HeN T3 AN
(i) meBroTEeN 79030 SRS,

(ili) ¢PU3T =JANYE),

Mr. Shekar Patil working in TATA MARCOPOLO at Dharwad, having population
of less than 10 lakhs, gives his salary particulars for the financial year 2016-17
is as under :

(a) Basic Salary Rs.50,000 p.m.

(b) D.A. Rs.20,000 p.m. (50% enters into retirement benefit)

(c) Bonus-half months basic salary.

(d) CCA Rs.2,000 p.m.

(¢) Education allowance for his three children at Rs.500 p.m. per child.

(/ He is provided with a rent free accommodation at Dharwad owned by the
company. The furniture provided in the house is Rs.1,50,000.

(8) Reimbursement of medical expenditure Rs.18,000 (treatment in private
hospital)

(h) His contribution to recognised Provident Fund at 16% of his salary with an
equal contribution from employer.

(i) Interest credited to the above fund at the rate of 15% amounted to
Rs.15,000.

() He is also provided with a big car for both personal and office purpose. The
running and maintenance expenses including drivers salary are paid by the
company.

(k) Facility of sweeper and watchman is also provided by the company by
paying a salary of Rs.300 p.m. and 500 p.m. respectively.

() He paid Rs.250 p.m. as professional tax during the year 2016-17.

Compute his income from salary for the Assessment Year 2017-18.

6
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) 066 03 FIBD zsﬁ,ooai Q00T PUBE  3ob3d ;isaﬁwcrwpedmcw@ 3URBITOS
8¢ BeT Tatdeerdd Bz :Sw\s' 2016-170 33) 337 &Sdm}do o N0 imwdoa'ad

(a) Swee Ie3T Br. 50,000 T8 3oned.

(b) 3083, z;a:s gw. 20,000 3,8 onebd (Bevwe S0 o), D33 oz,'gsﬁ 3e0L3 ).
(c WBRCTE® - Iwe 33T B Sorie,

(d) ®nc Idx=T 2,'333 gw. 2,000 I8 3oneb.

(e) o XA 2,13 ¥I0 et dﬁe?ri 3,8 Sorvart Bdwe. 500 Jod &8 doried.

9301t Fok ?&)36635)’ Wl 0&3 3)601)63 m,oﬁ-)ﬂ imsemhdo SRabd
gw. 1,50,000 :S.)’aod wtd@ﬁwﬁdmﬁ%’m udﬁ,ooaﬁd

(8) RoBoze38zenT FTdeod e Bwe. 18,000 (&09mh &33 0 333 3 SBadbernnas).

(h) =z 33, 33T Bevmo 16 o), mwm SeYd SEu PIZ AP SRBNATLIT
DY emc&!.) enwI3dd 38 EES .o:bmd mssab :&Jawﬁ.owsad

1 Deds 2;!&)@6 ARt Bevmo 15 Tod wdooins B e Bwe. 15,000.

) =0 203 BN FeIed FOIRIMA 2,0%0 WoB, FO0R), FABING. 152080 Se3s $6d
&)draw 3SR, FoS0DTT POROFT.

(k) 2301 BRRARIIT BINKR 098, FoT0MRTT -’aoz,i dab udﬂdmhm F0TAODLITY 38
3oneh 05N Bue. 300 Hante Be. 500 Sod ;Scéafdab aasa,osad

() =380 I3 3orieh Be. 250 Jod 338 381’10&1)63420 16—176%@;33»6)336.
F00E0E SR 2017- 183, 930 Se3xdon wors Bmo‘i)dail)i 66& Hob.

~—

(

)

Dr. R.K. Gupta is the owner of the three houses, the information is as under :

Particulars House I House II House III
Municipal value 1,80,000 1,50,000 1,20,000
Fair rental value 1,50,000 2,00,000 1,00,000
Use of House LOP LOP SOP
Rent per month 20,000 15,000 -
Construction completed on 1.1.2010  31.3.2014 1.12.2015
Interest on loan
Pre-construction period interest - 50,000 -
Interest for the current year 2016-17 25,000 40,000 15,000
Interest on loan for repairs 5,000 - -
Municipal taxes 10% of MV 10% of MV 10% of MV
Municipal tax paid by owner 18,000 - 12,000
Municipal tax paid by tenant - 15,000 -

House II was vacant for two months.
Compute income from House property for the assessment year 2017-18.

7




11.

@o. 30°.8. romR ISTO SoRdd oBrie SRAesTNB), WYY S0k I BYNT03003T
o I

Farn el V)
SnT 7y 50
35 walit S50
W wYT
3,3 done weldrt
ﬁwf IporrteoB BP0T
»ou 30ed8 R
FeIE SprANE S0, o3pob W,

w5ed) SR 2016-170 w8,
BooyeN IRBER0B FOT WA
Sng 323 30rtnieh

IpJTT FEE SN 37 30rinh
wBRETTL B3R IS =z S0rried

o 11 0B dorid 8709 VOB,
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o1 o8 11
1,80,000 1,50,000
1,50,000 2,00,000

(A< lat PArYe gt

20,000 15,000
1.1.2010 31.3.2014

- 50,000

25,000 40,000

5,000 -
10% ®. 332
18,000 -

- 15,000

30080 IRE 2017-188, oS 6371908 208 BEOHTHT), S8, Ho3.

1,20,000
1,00,000

RWYE
&

1.12.2015

15,000

10% 8. SR  10% . 35°

12,000

From the following Profit & Loss A/c of Mr. Fernades, compute his profits from
business for the Assessment Year 2017-18 :

Profit & Loss A/c for the year ended 31.3.2017

To Salary

To Rent

To Printing & Stationery
To Sales Tax (VAT)

To Income Tax

To Trade Expenses

To Interest on loan

To Donations

To Reserve for doubtful debts

Rs.
80,000
20,000
5,000
15,000
20,000
25,000
10,000
20,000
5,000

By Gross Profit

By Rent from property

By Commission

By Discount received

By Interest on Bank F.D.

By Bad debts recovered
(previously disallowed)

Rs.
4,00,000
50,000
20,00(
20,00(
5,00(

5,00
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Rs. Rs.
To Bad debts 10,000
To Drawings 50,000
To Interest on Capital 10,000
To Depreciation 20,000
To Purchase of Machinery 50,000
To Advertisement 10,000
To Car Expenses 5,000
To Net Profit 1,45,000

5,00,000 5,00,000

Other information :

(a) Trade expenses includes Rs.5,000 paid as college fee of his son and
Rs.5,000 as municipal tax of house.

(b)  Car is used equally for business and personal purpose.

(c) Depreciation allowable as per rule is Rs.15,000.

§¢ PooroBz* 9SS B FINS gl 3 VR, 0300B FTTTH IR 2017-188, S@e0don
(AT 1A} c;az,ddai dii s :

31.3.2017% BRBNR00E B0veR) IRFT woyy S0 TF, 208

dw. on.
Sesnnied | 80,000 Fr oey 4,00,000
wWodrs 20 000 Q&iw)om’ 200 rArtTal 50 000
Soge 3% Feand 5000 B¢ 20,000
SwR0b Soririeh 20,000 %3088 3G
OT oeds zo&;3 10,000 VW 5200 I3
951)&3&3:-353 30 AP 5,000
WIVRATOSN Seoried 10.000

9
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gdn. o¥r)
ﬁazoeﬁ DWOETYD 50,000
WOBZYT HoedT WB 10,000
A3TY 20,000
odo3 iy DD 50,000
2308 C0BONYO 10,000
5o0R DWOFNL 5,000
sy oo 1,45,000
5,00,000 5,00,000

933 S8 :

(@) 3y ons sodery B0, T 5,000 e I ey Beds Inc 3y 301
ow. S,OOOﬁQdeéhdJ@dd&w%mb DBFNYO LeOZUNT.

(b) sazsmd Hone 73603 wISMN FOBY, AZomeN YIRS,
(c) QobIone =z0 PRSI WBOTT 3=58¢Y S. 15,000.
From the following particulars furnished by Mr. Raghu, calculate tk

depreciation allowable for the assessment year 2017-18 and indicate the writte
down value as on 31.3.2017 :

Sl.No. Particulars WDV as on Additions Rate of
1.4.2016 Depreciation

01. Plant and Machinery 50,00,000 15,00,000 15%
(1.12.2016)

02. Factory Building 25,00,000 5,00,000 10%
(1.6.2016)

03. Furniture 5,00,000 - 10%

04. Solar water heaters 1,00,000 80%
(1.12.2016)

On 1.7.2016 part of Plant and Machinery sold for Rs.5,00,000. Mr. Ra
received Rs.20,000 as subsidy for purchase of solar water heater.

10
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8¢ O 90 I asdwagqsaz, BOITOSH IRE 2017-182% BBOSZWBOTT 3&36@0&)3\2{
638& ot 0F) D08 31.3.2017 Fordd e iaVolele s 33’9%;3@?* 30002 :

g,. Ko. M le]s PV 1.4.2016 Sord B[  ITFY 6
@300 I50ey
01.  =3=0nsh 303 03r08.0 58T eariey 50,00,000  15,00,000  15%
(1.12.2016)
02. Boword sE3Ensh 25,00,000 5,00,000 10%
(1.6.2016)
03. ednemsderiey 5,00,000 - 10%
04. %98 AWY3°Q0T et 52000303 1,00,000 80%
SVTFT iy (1.12.2016)

Bmo0% 1.7.2016 Cory Wonwo3 m@ﬁd Hann obo&@cﬁsdmmmi Ow. 5,00,0006& S[ITE3

SPBBLIT. e TPL WI% 2PY ANF0B B> 5200RF VDTS DBeRoLS.
8. 20,000 3205w (FYR) SR, SEBSZT.

Compulsory - Case Study :

Smt. Leena working in Bajaj Auto Ltd. Pune, gives the particulars of her salary
for the financial year 2016-17 :

(a) Basic Salary Rs.40,000 p.m.

(b) Dearness allowance Rs. 10,000 p.m. (enters into retirement benefits)

(c) Commission at 1% on the turnover achieved (turnover achieved during
2016-17 is Rs.10,00,000)

(d) Bonus equal to half month basic salary.
(¢) Medical allowance Rs.1,000 p.m.

(f)  Entertainment allowance Rs.1,000 p.m.
(

g)  Her contribution to RPF is at 15% of salary, with equal contribution from
the employer.

(h)  Interest credited to the above fund at the rate of 12% amounted to Rs.9,600.
(i)  She paid Rs.250 p-m. as professional tax.

Compute her income from salary for the Assessment Year 2017- 18.
Case Study :

Compute her income from salary for the A.Y. 2017-18, assuming that with the
same employments, if

(a)  she is a government employee and her

(b)  contribution to statutory provident fund with equal contribution from the
employer as above (including interest).

(c)  Give the reasons, why the income from salary difference.

11
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FB0d - B3V OG0T :

IpS0d Wz’ eedee JoHAIBA, FoR ISFLIS e Jewe BIT BN IRE
2016-170 33) Se336 II0RIR), 88 $4NT0S 80830333 :

(a)
(b)
()
(d)

@)

Swee Se3 Bve. 40,000 I3 Sonivrt

383,338, S, 10,000 338 doridrt (A3 Doy, Beco3dl)

By wia) 30t Beswe 1 OR), (2016-17 dQod 263, B500¢3 B. 10,00,000)
BeesT BGF 30nYE I IeITBR),

3,5,8ead 138 d. 1,000 3 Sorieh

Sodecsorme z;jcis dw. 1,000 Z,3 3oried

OS50y BT PIF, IBR 3330 desmwo 15 OR), 0BMGT. eRe BRI,
SMaVoXGplant el 3B JRABNVTOZYT.

DDeds 2,3:):% QOR Bevmo 12 To3 223000000 m&;3 owe. 9,600.

9330 I8 dorish Be. 250 Tod F8 3drtadom), ToS82003T.

BUov0® II3F 2017- 18% =30 Je3TDoB wor esmw.)daigl 68& 3.

800 o008 :

Soeed 39290 30293;36#1#6% e forbbrrlelilal) 290 I0E0H IaF 20 17-186& u30 33ITDOT
2000 ewaai)dabddq’i Hod, 20T g I,

R0T0 FPBCTNFY 8y BT

saru’idzodo z,ma% B, do@ﬁﬁe}w\i 3RBNABT Hane w%eriméd % es&; BTN
038R 3RBNATOHT. Foed BIRDAT wongod (&, %¢eD)

Se38D0T LS e 56336‘;&19?11 To0nYR) Bee.
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Fifth Semester
Paper I - COST ACCOUNTING - I
(Revised)

Time : Three hours Maximum : 80 marks
Attempt questions according to internal choice in each Section.
Give working notes wherever necessary.
Non-programmable calculator is allowed.

Question No. 13 (case study) is compulsory.
SECTION A — (10 x 2 = 20 marks)

1. Answer any TEN of the following :
BINTI)NIS) Wezors ®3Y, 63020 :

‘ (a) What is Cost Accounting?
i ﬁzsucf I5303_2onTemo?

(b)  Write two objectives of Cost Accounting,
ziz{id S350% 8 0B emc%eéﬂ%’ﬁg{ w300.

() What is direct material cost?
®deT 3030 a’szswaoddem?

(d) What are the components of prime cost?
IT IBB evmonnve))?

(¢) What is the difference between cost and price?
&Sazb&_p 33 a3y %a%wem?

()  What is Bin?
D® DoBBeso?

(8 What do you mean by Inventory Turnover Ratio?
3030 BoRod Bo308Y JeSerd 390D eD?

(h) What is Time rate wage system?
2S00k 503 3R B3 BB HoTeRO?

()  What is Time recording?
ABO0D FRBRIT 0BBer?
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() Mr. Ashok worked for 40 hours and he produced 250 units. The wage rate J
per unit is ¥ 5. Calculate his earnings. |

wBpeEs> 40 rotd FoR Sawes 03y BT 250 odoQeF D), U DTN, T3 [‘
03109E .00 BT Tn. 5 U3T TIPSR, &3, F8D. |

(k) What is Machine hour rate?
03003, riotd WS oBTERO?

() What is under recovery of overhead?

:oeesazswcs 383 $F0E HoWVBERO?

SECTION B — (3 x 5 = 15 marks)

Answer any THREE from the following :
FINTI)NYD, WSezon Soev?, U300

The accounts of Shri Puttaraj Co. Ltd. shows the following :

4
Materials consumed 31,50,000
Direct wages 24,30,000
Works overhead expenses 7,29,000
Administrative expenses 5,04,720

Profit expected 10% on cost

Prepare the statement to show the following :

(a) Prime cost
(b

) Work cost
(c) Cost of production
(d) Profit
(e) Sales
R)e3pazs FOBD DODAIT STHIT), 9nNSod ad :

4

30sony evaydeen 31,50,000
deg 309 24,30,000
LRI RY] ;bedazsuﬁe}o 7.29,000
BBITIT DN 5,04,720

Sup Bezwo 10 Oazjdmdaaegﬁmﬁd

6@ﬁdé)ﬁ@a&g{ Spedn0 a’é%dobaigl 30350029 :
(a) Twes By,

(b) To0lFE I,

(c) evsaEsad 34,

(d) oo

(e) Soovets
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Compute various stock levels from the following information :
Monthly consumption - 52,000 to 80,000 units

Re-order quantity — 1,20,000 units

Re-order period - 2 to 4 weeks.

FINT SR&H300T I son® e mw&ﬁeiabd %, %280 :

I028 suBgleen — 52,000 Bow 80,000 ahredEsrriey
3000 BBeB8T IS0 ~ 1,20,000 0oREFRE
000 esBes8E 3S0ab - 2 Bor 4 esned

From the following calculate the material turnover ratio and express the same in

days :
Date Particulars Amount )
1.4.2016 Opening Stock of Material 20,000
~ Material purchased 1,04,000
31.3.2017 Closing Stock of material 12,000
FINTFHNYorw 3030 oo BOSW, g 530 303 VT, DBNYYode 8920 :
ATET 30 303 R)
1.4.2016 ATBONY T80 ée)% 20,000
- 20B0NY DOEH 1,04,000
31.3.2017 =03oNY 8083 8o, 12,000

Standard time allowed for completion of a job is 24 hours. The wage rate per
hour is fixed at ¥ 20. Mr. Ramesh complete the job in 20 hours. Calculate his
earnings under Rowan plan.

w0BY FOT —-’ggquse» NIRRT 300 24 noedned I3 rlotdnt spd TS dwe. 20&3t
ANDRALIINGS. B30e3TIBD o3 sossag 20 rioéSrieJQ, @aq,z,o%d O30 rie?ﬁababd dee3n®
Qifaezzafobq 6§ 30,

From the following information for the month of June 2017, calculate the
machine hour rate :

Cost of Machine ¥ 5,24,000
Estimated scrap value % 1,24,000
Effective working life of the machine 20,000 hours
Machine worked during the month 200 hours
Repair charges for the month ¥ 3,000
Standing charges allowed for the month % 2,000
Power consumed by the machine - 10 units per hour
Power rate per unit 36

3
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AR 20173 8 3INT B0&3000T 003, Fotdad BIDT), I, %9380 :

003 B3, % 5,24,000
800302330 IR 030e%sE S0 7 1.24.000
0303,3 VTOIVT DI VS 20,000 rloedneb
3ongd) 03008, FoODF SPRT V3P 200 ro&3ngo
3ond QoA [, % 3,000

8358 BT done 2(;3(5 Eﬁ?ﬁu T 2,000

03003, evB0deeNT WY 3 rtotdrt — 10 cdoedesnieh

2By TS B3 odedesr 26

How do you treat the casual workers, idle time and over time for payment of
wages?

BRI, FORMICTR) 3 odeews IR0 303 B0 BB, 309 BRBOSBEN Bert
J0nedRo3¢d?

SECTION C — (3 x 15 = 45 marks)

Answer any THREE including Question No. 13, which is compulsory :
=38, 13 sweod 28, 3%3 3INT)NYS) wWevor Swevd, GugDAD :

Shivanand Trading Co. Ltd. produces the following particulars. You are required
to prepare the cost sheet for the month ending June 30th, 2017.

Particulars 4
Purchase of Raw materials 1,82,000
Productive Wages 1,05,000
Indirect Wages 5,500
Stock of Raw materials on 1.6.2017 1,50,_000
Stock of Raw materials on 30.6.2017 1,83,000
Stock of work in progress on 1.6.2017 56,000
Stock of work in progress on 30.6.2017 70,000
Stock of finished goods on 1.6.2017 1,08,000
Stock of finished goods on 30.6.2017 62,000
Sales 4,32,000
Factory Rent and rates 30,000
Depreciation on plant 7,000
Carriage inwards 3,000
4




Particulars 3
Sundry Factory expenses 20,000
Sales Manager’s salary 15,000
Office Rent 8,000
Miscellaneous office expenses 15,000
Advertising charges 8,000
Carriage outwards 5,000

820800 &S eBort Fo3Vodh BUNT :’ua&»éod)dgl 0eRT. 20170
d?{j ?o’%ﬁodod)q Zadedzen Ason gedt

A3 4
4508 RTBONYR DBeRdIT 1,82,000
HTTD TS 1,05,0C0
¥3e0 3R 5,500
1.6.2017 dor 52@56&@ 8o, 1,50,000
30.6.2017 gord 6uauxdﬁoﬁej 8o, 1,83,000
1.6.2017 Qo> Zr3obITOS soRE 8o, 56,000
30.6.2017 oy FN0LATOS BoRT 8, 70,000
1.6.2017 Sor Spmenoor 388y 8, 1,08,000
30.6.2017 dord Fperneord 363one dex, 62,000
S0t 4,32,000
FoRFNod welR S0 BT 30,000
73T edT 3[FY 7,000
ATBoNY n=OR welrt 3,000
Foardodd mmqs DWOE 20,000
S0000¢3 AT BTN Bowe 15,000
Fe3ed Wl 8,000
geSedady mabawzs DN 15,000
T30 DAY 8,000
RTBONY ANFORS 2wl 5,000
5
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From the following information prepare a Stores Ledger and confirm which
method is followed in it :

BINT SR&300T TonH e WaFodd) 30300 I ¥BdY cdns a’d@éoﬁa@l MTOIROR NS

DOT 393 :
Stores Ledger
RoN®B e W03
Receipts Balance
338 8o,

Date Qty. in Rate Amount Qty. in Rate Amount

Q0208 |  units ale] Wk, units Ale) (SIXV)

2017 | IB0N 2 2 ZR5e z N

adopRes® eV VAT

July - - - 2,000 12 24,000

wRd, 1

> 5 - - - 300 12 3,600

78 1,500 13 19,500 300 12 3,600
1,500 13 19,500

710 - - - 300 12 3,600
1,100 13 14,300

714 - - - 300 12 3,600
800 13 10,400

717 1,200 14 16,800 300 12 3,600
800 13 10,400
1,200 14 16,800

7 20 - ~ - 300 12 3,600
500 13 6,500

7 24 300 15 4,500 300 12 3,600
500 13 6,500
300 15 4,500

726 - - - 300 12 3,600
400 13 5,200

727 600 14 8,400 300 12 3,600
400 13 5,200
600 14 8,400

7 28 - - - 300 12 3,600

' 400 13 5,200

250 14 3,500

7 30 - - - 300 12 3,600
150 13 1,950

6
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2017
Particulars 3
Rent 45,000
Municipal taxes 15,000
. Electricity 7,200
Indirect wages 18,000
Power 18,000
Depreciation on Plant 1,20,000
Canteen expenses 90,000
Other labour costs 30,000

Further information are :

Production Depts. Service Depts.
Particulars M N O X Y
Floor space (sq.feet) 1,000 1,250 1,500 1,000 250
Light Points (Nos.) 40 60 80 40 20
Direct Wages R) 1,200 800 1,200 600 200
H.P. of the machine & plant 60 30 S0 10 -
Cost of machine ) 48,000 64,000 80,000 4,000 4,000
Working hours 2,335 1,510 1,512 - -

Departments M N O X Y
X 20% 30% 40% - 10%
Y 40% 20% 30% 10% -

for redistribution.




7341-E01-VSC-R-N-17

ORA3S Fo. DoHABTA M, N 33y O evse@me acessrith 03y X 3083 Y e aenalnds.

De* 2017 Sone IR B FINT0IF %sS

239 Z
(ATYE N 45,000
SABeF 30rirehd 15,000
by 7,200
o3es 309 18,000
3% 18,000
W[OS Foees ZITY 1,20,000
S re] ﬁdSm’ DN 90,000
93T FaETO dzsum}o 30,000
Q3T JIT&dneD :
BUITTO YLRABNLO B eealndd

233 M N o) X Y
do wort (3,0 e) 1,000 1,250 1,500 1,000 250
&¢3° wennd (®o.) 40 60 80 40 20
Seg 309 (3) 1,200 800 1,200 600 200
0303, 3 FFT (¥3,38) 60 30 50 10 -
abo3d 28 R) 48,000 64,000 80,000 4,000 4,000
3ORE notdrieh 2,335 1,510 1,512 - -

B0 aenalod :Dz&orrie}i&gi s FY9NT03 BT SPBEOITO :

e lartsfa>h)

X
Y

M N O X Y
20% 30% 40% - 10%
40% 20% 30% 10% -

Soeddzsrs 3,8 rot3od BossodbB), &3, Fa8D. 0B Bow3FMN F)TTeIZrB 0 B0WS 36@301)269{

905020,
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11. Record the following in a Bin Card :

1.9.2017
3.9.2017
4.9.2017
5.9.2017
9.9.2017
+14.9.2017
15.9.2017
16.9.2017
18.9.2017

1.9.2017
3.9.2017
4.9.2017
5.9.2017
9.9.2017
14.9.2017
15.9.2017
16.9.2017

18.9.2017

azi’maaai

Balance 1,500 units

Received 9,000 units vide GR No.11

Issued 6,000 units against MR No.30

Issued 3,600 units against MR No.32

Returned to vendors 450 units purchased on 3rd September
Received 6,000 units vide GR No.22

Received back 300 units issued on Sth September

Issued 4,500 units against MR No.42

Issued 1,500 units against MR No.45

Stock verifier found a surplus of 300 units on 20th September and left a note to
this effect.

AT Faw‘FﬁQ%Qﬂdq)n’@Jag BI0eR2D :

8o, 1,500 adbwedestrien

SEDTBB 9,000 0dr0deFrie 25,6305, Fo, 11 o”ad

BRRE SRBTOIT 6,000 0RREFRY) 20.830¢. Bo. 30 o

BRT SRBAOTB 3,600 0dodEFRLd H0.e50°, do. 32 Tdod

EJclefdantelily Soodobmwoo 450 odbwederngs 3de 3O TS DOERTT 33
SBRTOTE 6,000 0L 23,6308, Fo, 22 gsod

S&e 3Z0wo 0o 300 0heder e dog INRBOTET 38 S0BTON IBhHI
308 IPRTLSE 4,500 0dredesries 00.830°. To. 42 Fod

BT SPBCOSH 1,500 0dredesnie 0.830¢. Fo. 45 Bo3

30@8&;"0&)6\2{ B08eIRII 300 odredes £Z§dﬁ @dxﬂcsmd Bveoz 208 3B owo*Tord 33

12. Write steps and difficulties of installation of Cost Accounting.
dzsa g550% I8 FILRIT B3I ) 3./0063(3!\’9)&% (Alele\blo)
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Case Study (Compulsory question) :

The information provided by Shivanand Co. Ltd. for the month of August 2017,
for a week :

No. of hours worked — 48 hours
Normal wage rate per hour — < 60

Standard time per unit — 30 minutes

Actual output of the workers in the week :
M — 90 units, N - 100 units, O — 102 units,
P - 106 units, Q — 106 units

Differential piece rate applicable :
80% of piece rate — below standard output

120% of piece rate — at and above standard output

Calculate total earning as under :

M - on time wage rate

N — on piece wage rate

O - on Taylor’s differential piece rate

P - on Halsey plan

S

Q - on Rowan plan
|

Comment : Which method of wage payment is beneficial to the workers and to
the management.

3800 oy obs (FEaad 238):

2017 ez, 3onie Sn&b3oba), Bmenon oI . WORD TTTW T VR :
FoadE ITF&AT wtd) notsned — 48

33 notdrt I, 8.09 BT - 60

3.8 aede 1t IRPeded3 Sed — 30 AANW

Fo20FF0 ¥ GUIEW

M — 90 0dwedis*ney, N — 100 adwedesnish, O — 102 0dwedesnisb,

P - 106 obwedtsned, Q — 106 cdederned

10
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RERIT F3y3n R0 (et Tia
30080/ 0d0des® BOT Be. 80 — FRReGI03 38 evsagat
200@>/ aedE® BT Be. 120 - ISR ) w6803 Bo3 evaagn

W), m?aoamg F9NT0d B0 HRACD :

L. M- 3e¢ 503003 508 oo

2. N-350m/adrodes 8203 300 ©g

3. O - #eovrozg zizsazsn’cf 30030/ Ao &g
4. P~ B abIT aleewa

S. Q- Bee3n*S0 aleessd

T30 :  aing BRO 55&3 FAOFTON UROBROTOIAG 3)39 8BY3  ordn
VRBOBROTOIAL,

11
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Fifth Semester
PRINCIPLES AND PRACTICE OF AUDITING
(Revised)

Time : Three hours Maximum : 80 marks
Answer all questions subject to internal choice.

Question No. 13 is compulsory.

SECTION A - (10 x 2 =20 marks)
1. Answer any TEN of the following :

TG I xg’é& U300 :

(a) What is external audit?
m&a‘ e%é 03038 HorBes0?

(b)  Write any two advantages of audit.
3, FOBRerBob) dPI)TIBTBR STE eaabalaosm}da WB0DD.

(c) What is error of commission?
DS escs 33), D0TTEeRO?

(d) What is ICAI?
ICAI 20@8es0?

(¢) What is Internal control?
230303 AA0Z 8 0TBeR?

() Expand SAPs and ASs.
D300 ~ SAPs 03 ASs.

(g) What is Statutory Audit?
aaﬁmoa; I3, S0B.058 20B3eR0?

(h) What is manipulation of accounts?
B, 5, I3, AR 203BeRO?
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(i) What is audit note-book?
&5, TOBRCGT BT B)ZT HoBTesd?

) What is permanent audit life?
Iz, S0Bcrdod 2033 ,0° 20BTFeRO?

(k) What is audit sampling?
SBedod) &7, BOBLTH F0TTCTO?

()  What is audit report?
&3, B0BRCFDD STVD H0TTERO?

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
ezo0 S0, Gu3dD

What are the advantages of auditing?

3, S030crd b BTTROINYT), 3920

Distinguish between internal audit and external audit.

0307 &5, 308,008 03I wWoE, ST, BOBNPT Y)Y FBOIT %Saémie}ai?i WB0DD.

Explain the merits of continuous audit.

Q0020 S5, SDZRFIoD BTTROINRGTY, IOD.

Explain the points to be considered while examining the vouchers.

D938 Hoadne S0Scod o Nz eTB o38N wif HZOD.

What are the limitations of internal control?

30308 003003,0% BIQSNTIF)R)?

What are the steps to be taken by an auditor before commencing a new audit?
BRETIN &7 FOBRFVoLTY FTHRNT Seve g3, SDBReFTR NSOTTALDFRY ez d
890310 0300:3)e3)?
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11.

13.

T 3FO-EUS- VST I IV Y

-

SECTION C - (3 x 15 = 45 marks)

Question No. 13 is compulsory. Answer any TWO of the remaining :

&8, 50 13 FB0LITBY. euIBHNYS Wewor SVBE, $v3020.

Explain the objectives of auditing.
3, BOZReFS oD B eBNYR), DFSOWD.

Explain the qualifications and qualities of an auditor.
65& BOZReREN wBed o) ma'ami&gl 3020,

Explain the types of audit.
SLAEHS: VoA VY @Eadmfid% D=020.

Explain the rights and duties of an auditor of a company.
FoT0D &5, FOBRCPTS BB, 03 33Ny 52030 WB0D.

Explain the basic elements of Auditor’s Report.
S5, S0BFTH IoBOD SRR03NYE), HZ020.

Case Study (Compulsory question) :

You have audited the books of accounts, Profit & Loss Account and Balance
Sheet of KBC Company Limited for the financial year ended 31st March 2017.
You are satisfied with the truth and fairness. And there is nothing objectionable
in the books of accounts.

Draft the specimen of such audit report.

BT0 T obT (FBod 33) :

ey 3.0 503D QoI g5 HITAYR), @y ©F, 3 D) wEess BINYR,
F0BeARD. 3TO &7, BIrieh 318e Foowss 20173, 03IoRP0RS. IDBeAIB ey WOBriLH

33 S03) IRy BR0DIS Borte eFeIBRIR adnF)de BTN VWOR)DY, BOBeAIT
QR ST, B FHTo DTN,

S0eIT ©o3ndR) FOried XAFT S8, F0BNegme ISR 0dr), WA
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
Fifth Semester
COMPUTER APPLICATIONS IN BUSINESS
. RDBMS AND E-BUSINESS APPLICATIONS
(Revised)
Time : Three hours Maximum : 80 marks

* Answer all sections according to internal choice.

Question No.12 that is case study is compulsory.

SECTION A - (10 x 2 = 20 marks)

h) What do you mean by Tele Marketing?

! 1. Answer any TEN questions. Each question carries 2 marks.
(a) What is object linking?
(b) Name any four objects in MS-Word.
(c) What do you mean by DBMS?
(d) What is an Attribute?
(€)  Write the use of ALTER command with syntax.
(ff What is Primary key?
(g) Write any two benetfits of E-Commerce.
(
(

Define E-Supply Chain Management.
Mention any two characteristics of EPS.
(k} What is debit card?

(1) Define peer to peer payments.

SECTION B - (3 x 5 = 15 marks)

Answer any THREE questions, each carries 5 marks.

2.  Explain the steps for Hyperlink MS-Word in MS-Power Point.

3. Explain the objectives of RDBMS.

4.  Write purpose, syntax and example for any five DML commands.

5. Explain any five mathematical functions in SQL.

6.  Briefly explain the steps for strengthening the customer relationships.

7. Explain the features of e-commerce.
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SECTION C - (3 x 15 = 45 marks)
Answer any THREE questions, including Q.No.12, which is compulsory,
each carries 15 marks.

Explain the different methods of integrating AVI files in MS-Power Point (draw
dialogue box wherever necessary).

Explain database models.
Define e-business. Explain the characteristics & benefits of e-business:
What is direct marketing? Explain tools and types of direct marketing.

Create tables “Consumer” with fields C-id, Name, Address, City, Mtr-No. and
“Bill” with fields Mtr-No., Month, Pr-units, Cur-units, Units-cons, Rate, Amount
and perform the following queries.

(a) Insert 5 records in each table,

(b)  Calculate units consumed in column ‘Units-cons’
(c)  Calculate total bill amount in column ‘Amount’
(d) Select maximum (units consumed) in “Bill”

(e) Display all records with C-id, Mtr-No., Units-cons, Amount and Name.

Write a short note on:
(a) Data types in SQL.
(b)  Advantages of virtual supply chain.

(c)  Mobile banking services
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.

Fifth Semester
Paper II - ACCOUNTING THEORY
(Revised)

Time : Three hours

All Sections are compulsory.

Question No. 13 is compulsory.

SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
BYNT 0OJ)TWTR B3, HuIDID :

(@)

(b)

(e)

®

(2)

Define the accounting theory.
JEZOR 39030 w59, 35,0dR), Bewd.
= ® () o

What is positive accounting theory?
TOZIT STTF, A0 0BT ER?

What is accrual basis system of accounting?
BRR% ©Ee0 BTIab G553, dorvesd?

What is sociological approach?
5309238 Soone HordesO?

What are the four theoretical concepts of accounting?
I5503 309088 FOFob etar SR B3020.
= ) D L

What do you mean by accounting practice?
G533 dﬁa a:’:gﬁd@ldomﬁ D0TTBERO?

What is current liabilities?

1509 wZRO/RYL doBTeR?

Maximum : 80 marks
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(h) What is fixed assets?
2TYNL HoWBeRo?

(i  Mention the revenue producing activities (any two).
Fowa0d N33 IPBOT wwwwﬁﬁﬁﬁiéeﬁ%fb (Bevor STB).

()  Write two basic concepts of income.
DTR B80T e ed ziegoafﬁe}mq w3od.

(k) Give any two demerits of accounting standards.
dﬁéaaﬁjwaddodﬂe} Werr 0B emabimosm}ai% QeRd.

()  Expand the following :

BUNT)rUm), 25020 :
() ICAI
() IAS

SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following :
WUezard SoR0Y, ev3020 :

Explain the need of accounting theory.
da;ai-)b‘m.%m%o&i eadéaﬁéobaigi 3020,

Explain the going concern and monetary unit postulates.
WBRTO BBoIOI RB0 3 BOT CRTT IR aojommfﬁ% DS0%0.

Find out owner’s equity under Residential Equity Theory from the information
given below :

4
Fixed assets 8,75,000
Current assets 2,50,000
Equity share capital 6,25,000

Preference share capital  2,50,000
Profit & Loss A/c (credit) 62,500
Reserve Fund 62,500
Creditors 1,25,000
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o 2O BT InbdooT ‘BeR és@:ﬁé.%’ ?omoos 350 Hoedd wHEITT modg{ FoRO

&BOWY :
4

202N 8,75,000
SRTIES 2,50,000
TS0, Bedd WOBIY 6,25,000
933,800 WOBTY 2,50,000
ot B B, 2503 (HBP) 62,500
5003083, A8 62,500
Zdricy 1,25,000

5. Explain the criteria for recognise the revenue.

F0w0 NOBISRIS mmosm;a% D302,

6. Give the list of AS issued by ICAI (any five).
ICAIO3» QeBTHS AS 03D, edd (Wewos 2T).

7. Calculate the value of stock at the end of the financial year 31.12.2016 from the

following particulars :

218 DeBTOS ISONY B5esnd) 31.12.20168, w03 SREE IWE0Z T, Do AN WS APFOAD

Materials  Cost (Rs.) NRY (Rs.)
30TONYO 3¢ (Ow.) OF°.80°.53,. (T.)

P 9,000 12,000
Q 21,000 18,000
R 27,000 30,000
S 30,000 33,000
T 36,000 27,000
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SECTIONC - (3 x 15 = 45 marks)

Explain the roots of accounting theory.
dﬁaaﬁjm%osw mmv@l T02D.

Explain cost principle, consistency principle and conservitism principles

accounting.

ST 156 33, m0FI0s 33 303) owoodEdrn

(a)

(b)

What is expenses?
DWW oWSerd?

Qddid U303 :

202090 33(;\’%3&3{ JTDJ0.

Discuss the Revenue and Capital Expenditures,
Fowaodd &{{M) D) woBe &Suﬂ%b 300 w8wEd,

monthly inventory balances. The followi

31.12.2016 are available :

Datas for the year ended 31.12.2016 are available :

4
Stock (inventory) on 1.1.2016 3,75,000
Total Purchases 5,81,250
Total Sales 10,37,500
Purchase returns 18,750
Sales returns 37,500
Freight 1,25,000

The company makes a gross profit of 25% on net sales,

Calculate the cost of the stock (inventory) as at 31.12.2016.
¥B8° Fo. d.080 Beowacsd e o3 STS suzsolechy 338 dony ¥0ZF A wWos
303 NFEORI. B, 31. 12.2016% AW 0Z T FUNT ©0s @osne) 0 :

4
Toma B. 1.1.2016 3,75,000
28 DOH 5,81,250
WD) e 10,37,500
00D ooy 18,750
2%e F00¢ wobdy 37,500
M8 Wl 1,25,000

ge. 25 gR), &)5;3 S0 Boces :-1/%0 e)az,)’d('\fgQ Fozadiv SPBOI.
31. 12.201613 DRI (2od)od> 2560336%60(30 SBoY.

4

of
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Calculate the profit by adopting cash basis system and accrual basis
system of accounting from the following data :

Cash sales - ¥ 3,75,000
Credit Sales — ¥ 3,00,000
Total expenses —~ < 3,00,000 (out of which ¥ 75,000 still to be paid)

B3 $9NT ®0d ®o3nRYoR SNEO 8T w‘d@é F03) BPRT T ;-swasw dgaas;eaim’a%
e::az,:id&gl TR HLROWD :

{no Soevetd - dw. 3,75,000
&) Ievets ~ . 3,00,000
Wk, ;stum}o - 8w. 3,00,000 (9wdd dwe. 75,000 ‘aaifgl BpBLIeITT)

What do you mean by accounting standards?
S5ZoR, IRVBOBENH 20TBERO?

Explain the objectives and importance of accounting standards.
S5508_SRVTOBNY gut eBreR), o3 msﬁsmﬂ D3020.

Arun manufacturing company gives the following particulars, prepare Stores
Ledger account according to LIFO method :

1.3.2017 Purchased 5000 units @ 10 per unit
5.3.2017 Issued 2500 units

10.3.2017  Purchased 4000 units @ X 8 per unit
15.3.2017  Issued 3000 units

20.3.2017 Purchased 3000 units @ ¥ 6 per unit
25.3.2017  Issued 3500 units |
30.3.2017  Purchased 2000 units @ ¥ 4 per unit
31.3.2017 Issued 4000 units

You are required to answer the following :

()

(b)

What is the value of closing inventory according to periodic inventory
system?

What will be the effect on Closing Stock under LIFO?

When the company wants to satisfy the shéreholders”will'it-be advisable to
continue LIFO? Why?
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000 PIRTT TOTAAIW 6@% 8 FUNT IITNYors LIFO &maﬁd&& 0302 %@‘F
a:a:«ioi)zdgl 30350029 :

1.3.2017 DOBRT) 5000 0dedes® I8 adoedes s Bw. 10 Bod
5.3.2017 QeBY 2500 adwedesnied

10.3.2017 DOeRIB) 4000 odredernidh =8 0dwedessrt dwe. 8 Bod
15.3.2017 QeBBY, 3000 0dwedesrieh

20.3.2017 OB 3000 0Bwedes*rieh I8 adoedessrt Bwe. 6 Tod
25.3.2017 QeBRY, 3500 adwedestrieh

30.3.2017 OB 2000 0deNEs e I8 03wede31t dwe. 4 Tod
31.3.2017 QeBBY 4000 0dedesridh

Oey) B FINTIHNYR 3300%zTN GLID2D
(a) Qab3Tds Koz FDBco 36@301) $,590 80330 303oNY WIS dRY?

(b) LIFO 35%301) 2,590 80830 3031 SBoees erod S0HaS0SeR0? |
(c) 20T Feg FoxmAN0ID 3eBOTITT we@%odoaql asdedzen LIFO a;’cqpéabw& S00ROIORT03 |
sosam’% QeBBITCE? HT?
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2018
COST ACCOUNTING ~ 1|
Paper ~ | (Revised)

[Max. Marks : 80

Instructions : 1 ) Attempt questions according to internal choice in
each Section.

2) Give working notes wherever necessary.
3) Non-programmable calculator is allowed.
4) Question No. 13 (case study) is compulsory.

SECTION - A

1. Answer any ten of the following : (10x2=20)
a) What is material requisition ?
b) Give four examples of incentive plans.
c) What is piece rate System of wage payment ?
d) What is EOQ ? How do you calculate it ?
e) What is indirect labour cost ?

f) Give two uses of time-keeping.

g) Calculate cost of production. If sales are Rs. 1,00,000 and the profit
is 25% on cost.

h) What is a cost centre ?

i) What is prime cost ?

J) What do you mean by inventory control ?

k) What do you mean by functional classification of overhead ?
[) What do you mean by overhead ?

[P.T.O.
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SECTION - B
Answer any three of the following : (3x5=15)

2. What are the advantages of cost accounting to management ?

3. Roopa and Co., produces a product. From the following data prepare
a statement of cost and show the profit.

Raw material consumed Rs. 1,80,000

Direct wages (labour) Rs. 1,08,000

Machine hours worked 1,800 hours

Machine hour rate Rs. 60

Administration overhead 20% on works cost
Selling cost Rs. 6 per unit

Unit produced 30,000 units

Unit sold 28,000 at Rs. 50 per unit.

4. From the following information relating to Siddarood Ltd. for the year
ending 31-12-2017, compute material turnover ratio for material X and Y.
Also express it in terms of number of days.

Material X Material Y
Rs. Rs.
Stock as on 31-12-2017 30,000 1,25,000
Purchases during 2017 3,80,000 2,50,000
Stock as on 31-12-2016 50,000 1,75,000

5. A dealer buys material X from suppliers at Rs. 50 p.u.
Total annual requirement is 1,800 units.
Calculate the economic order quantity considering the following :
Rent, taxes and insurance, per unitis Rs. 4 P.a.
Cost of placing an order is Rs. 100.
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6. The following particulars relating to Mr. Kotresh.
Standard time allowed 50 Hours.
Actual time taken 40 hours.
Wage rate Rs. 200 per day of 8 hours.
Find out Kotresh’s earnings under Rowan plan and also find out the
effective wage rate.

7. From the following information provided by BRTS Co. Ltd. for the year
ended 31t March 2018,

Factory overhead Rs. 1,24,000

Direct labour cost Rs. 1,96,000

Direct labour hours — 1,45,000 hrs.

Machine hours - 40,000 hrs.

From the above figures, calculate overhead absorption rate using
1) Direct labour hours

2) Machine hours

3) Direct labour cost,

SECTION - C

Answer any three of the following : (3x15=45)

8. What is Cost Accounting ? Explain the differences between Cost
Accounting and Financial Accounting.

9. Prepare a cost-sheet from the following for the financial year ending
31 March 2018.

Particulars 01-04-2017 31-03-2018
Rs. Rs.
Stock of raw materials 40,000 50,000

Stock of work-in-progress 15,000 10,000
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10.

Stock of finished goods 6,000

Purchase of raw materials

Carriage inwards

Wages

Works manager’s salary -

Factory employees salary -

Factory rent, taxes and insurance -

Power expenses -

Production expenses —

General expenses -

Sales

Income tax -

Dividend

Debenture Interest -

Selling expenses -

O O O O

15,000
4,75,000
12,500
1,75,000
30,000
60,000
7,250
9,500
43,000
32,500
8,60,000
5,000
6,000
7,000
9,250

Write stores ledger card using FIFO method of pricing the issues :

2018
July 1
3
5
8
10
14

Opening stock 2,000 units at Rs. 13.50 per unit
Issued 1,000 units

Issued 700 units

Purchased 1,500 units at Rs. 13.80 per unit
Issued 400 units

Issued 310 units

e —— s —— e



OO0 O 0 0 5 1355-E01-~VSC-R-N-18

11.

17
20
21
24

26
27
28
30
31

Purchased 1,200 units at Rs. 13.70 per unit
Issued 1,400 units
Returned to vendors from goods purchased on 17t July 40 units

Received back from production department, out of goods
issued on 14" July 30 units

Issued 400 units

Purchased 600 units at Rs. 14.50 per unit.
Issued 350 units

Purchased 1,600 units at Rs. 14.20 per unit

Issued 300 units.

On stock verification on 31*'July a surplus of 15 units were found.

Calculate the earnings of worker from the following under :

a) Straight piece rate system

b) Taylor's differential piece rates

C) Halsey plan

d) Rowan plan.

Working hours in a week — 48 hours

Normal wage per hour — Rs. 30

Standard time per piece — 20 minutes

Actual output for the week — 156 pieces

Differential piece rates to be applied :

80% of piece rate for below standard

120% of piece rate for at and above standard.
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12. Nandita & Co. Ltd. has three production departments A, B and C and
two service departments X and Y. The following data are extracted
from the records of the company for the year 2017.

Rs.
Rent rates 25,000
General lighting 3,000
Indirect wages 7,500
Power 7,500
Depreciation on machinery 50,000
Sundries 50,000
Additional Information :
Particulars Production Departments Service Departments
A B C X Y
Direct wages (Rs.) 15,000 10,000 15,000 7,500 2,500
H.P. of machines (H.P.) 60 30 50 10 -
Machine value (Rs.) 3,00,000 4,00,000 5,00,000 25,000 25,000
Area (sqg. mtrs) 2,000 2,500 3,000 2,000 500
Light points (points) 10 15 20 10 5
The service departments have rendered the service on % basis as
under : :
Departments Production Departments Service Departments
A B C X Y
Service Department X 20% 30% 40% - 10%

Service DepartmentY 40% 20% 30% 10% -

You are required to find out overhead of production departments.
Repeated distribution method is to be adopted.
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13. Case Study (Compulsory question) :

The following information relates to the activities of a production
department for a certain period :

Material used (Rs.) — 72,000

Direct labour (Rs.) —'60,000

Hours of machine operation — 20,000 hours

Labour hours worked — 24,000 hours

Overhead chargeable to the department Rs. 48,000

On the order carried out in the department during the period. The
related data are :

Materials used Rs. 4,000

Direct wages Rs. 3,300

Labour hours worked — 1650 hours
Machine hours worked — 1,200 hours

Prepare a comparative statement of cost of this order using following
three methods of recovery of overheads :

a) Direct labour hour rate method
b) Direct labour cost rate method
¢) Machine hour rate method.

Comment : Which method looks to be more rational and why ?
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h) &2, 3eow, womdess 2
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J) TR 0308, 0 0ITed 2

k) ﬁoewda&a’sﬁv TOCINEIT SNeFFTED DOTTERd 9
) efsoe@oﬁaz Q0TITE 2
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NS Bemg TRTE 600 : (3x5=15)
2. wmm@ﬁ a?asmfod VT3 Renngd odRR)ey) 2

3. dawe &) FomRodn o IR, WTOTS. 39T Rtscior
B33 o2y ST, FoeomdiT wwosm Jon026.

5, IO Waieen dr. 1,80,000

3¢T 8o (3o0F807) ©in. 1,08,000

0I0Z, T 52038 1,800 rosdnes

008,083 B3 B, 60

Sleaivciag dseoaajzgd TOO0FBIT T,883 20

SR F& 302 A, 6

YUBLLATOHT 30,000 odaoRext sty

BRTE TR 28,000 03083 e T8 AR T, 50,

éems mao@cmm Qﬁd@w X302 Y "Dwoﬁ ne ‘?&Soﬁ 23@5013 T eﬁaaézsad
SRR Tone o 636553 QSK%fef)Om Te0.

N, X mon, Y

an. oR.
31-12-2017 Sozy vy ODADING 30,000 1,25,000
2017 aﬁs‘d@gﬁd 0068 3,80,000 2,50,000

31-12-2016 goz) QT (SDADIS) 50,000 1,75,000
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3¢3 Foo0F 3T noedngd 1,45,000 1oEdnsd
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(3x15=45)

WOTH ﬁag’s B8 Bo3R0R0.
SAtofy o4} 01-04-2017 31-03-2018
o, o,
623% SN SDADIN 40,000 50,000
THSebOZ coman 15,000 10,000
clovinteElat SN SRR 6,000 15,000
%23, SBRINY Doen _ 4,75,000
2N 2T BIONY Torwess dai _ 12,500
(I619) - 1,75,000
FooF S DON0Z, 3T Ko - 30,000
Fo0OF & JPBTT Xogoed - 60,000
SIRES woRA, 301 morn Q0 - 7,250
D,TT Dedd> g ~ 9,500
VBTS2 ey - 43,000
m&‘i:aa'fj DM - 32,500
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WP - 8,60,000
373903 301 - 5,000
SptApler) - 6,000
TOOBE, N L&, - 7,000
TRTIT DBOFND - 9,250
B3 39N TRLI0OT ‘BRTBEL WOBE), BATL VRN’ T3S0, FT0I0T
KOO s098030TY AIRORD
2018
%Y, 1 T80T 3 2,000 030D ©,20300338 On. 13.50003
3  2zoNRE 1,000 o300V
5 2onid 700 o300
8  oed 1,500 cdnRenw B,803R0TF Te. 13.80003
10 2@oNE 400 cI0VON
14 2EoNE 310 c30RIN
17 0ed 1,200 03202827180 T,803R0TF TR. 13.70008
20  2@ond 1,400 cI0VEON
S 21w 178 DOCDARTTY, PG FTTT 80QTONRT), 40 030REIND
24  wd¢) 14 B JeRTTY, LVTIT DYPRDOT WOTP WOTTY,
30 030REIN
26  BORE 400 c30VEIN
27  2Dded 600 030RL I B,803003F . 14.50003
28  wrONRE 350 030N
30  2Dded 1,600 030N 8030033 Te. 14.20 olex
31 2rORE 300 030LNED.

w@; 31 dow éo% JTodedATN, éw& 15 ommsown’e;o éa%wﬁ fac:’gpoo
F0TOW0DT.
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E EXAMINATION, NOVEMBER 2018
CE OF AUDITING (Revised)

FIFTH SEMESTER B.COM. DEGRE
PRINCIPLES AND PRACTI

Time : 3 Hours] [Max. Marks : 80

Instructions : Answer all questions Subject to internal choice.

Question No. 13 js compulsory.

SECTION - A

1. Answer any ten of the following :

(10x2=20)
wema a:gg Jbgo’ 23008

a) Who is an auditor ?
&5, TOBREEE 2o ol ?

b) Name the subsidiary objectives of an auditing.
Senioliaiiors Syjelerd wcieéﬁ@ﬁi TROXD.
¢) What do you mean by error ?
BT 20T3Tes 9
d) What is joint audit ?
;‘a’ooi)o§ 85§ TOZRET wvo8es ?
e) Expand : i) FCA i) LIFO.
RO 1 i) FCA i) LIFO.
f) What are the types of internal contro| ?
50308 00T 0273 D3 ToND IR ?

9) What is meant by audit working papers ?
< Sodneds mowr

DD 1

FostatsiialoveknTate TINR 200336 9
h) What are the two types of vouchers ?
RWOOT T T TEIOND oI 2

[P.T.O.
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i) Give any four examples of fixed assets.
AT SANY 3BT DY), OTHBTEBNTR, VR0

j) What are the two types of audit files ?
63§ BOBReFION STEO TBHTRYO 3R ?
k) What is verification of assets ?

eﬁﬁ_gﬁe:a’ TOBEOT 0BT 2

) Name the types of auditors reports.
&8, BOBREGS0D SO0V TFTNIS), BRORD.

SECTION - B

Answer any three of the following : (3x5=15)
23eETs ST, YUBORD:
2. What are the general qualities of an auditor ?
g BOBRCTFT TOBIT, N CIRR)R) ?
3. Distinguish between auditing and investigation.
Eﬁi FOBReTS TON 3388 VRN SRS %@ﬁﬁ%ﬁaﬁi 2TOA0.
4. What are the features of internal control ?
¢30808 DCIV0Z,EAT msaeisamb CBRRR) ?
5. Distinguish between vouching and verification.
g & ResoRODE o) BB T QReesNY FRNT TBYRRT, 2TCAD.
6. Briefly explain the characteristics of auditor report.
g, TOBRCTTD BDTHOD rbsa@isaﬁ#a’% RogFemon DTOR0D.
7. Mention any five SAPs issued by ICAL
ICAIC30 RENE BRRT 35T R0 [se 63?% TOBRETIOI
wzﬁds'émf?g BIORD.
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SECTION - ¢
Questlon 13is Compulsory. Answer any two of the remaining. (3x15=45)
wzf 13 #mo:be:)dav’w VP Qﬁ%@ Wewos addé NVBOR,

8. What is fraud 2 Explain varioys types of frauds.
ez 33 033 9 e BNy g wﬁdﬁ%m QO

9. Whatis annua| audit and interim audit ? Explain its features, advantages
and dlsadvantages
TONFT &3 BoBners oY doa) 03T ¢ 5, ToZnes DOTTEI 9 eoye
uﬁrﬁ% d&iﬁn@‘a’r{% 2y @@m&@u@"‘f@&b ) SITOY,

10. What is voucher ? What points kept in mind by an auditor while
examining vouchers ?
BN = ROTTED ? W02 RS

) BETEROTN I8, ToZnremEd
NS em 3 Slelorate AR 9

11. Define verification of assets. How do you verify and value the following :
a) Freehold property
b) Leasehold property
C) Plant and machinery.
SANG @%3 aie so’mdw W00, Bs TN SRNG e fg:‘i G680 abe’_g
&v@ ‘asarcda Bert drcéaéb@
a) S)dawda? SANEH
b) riess s SRR
c) ,wado’ daua C0Z R c8Ten

12. What is qualified auditor report ? Draft jts specimen.
dﬁ@ww&’bo%” d’ﬁ TOZRer3ES =0 QDOTTERD 9 e SO d:ﬁwaﬁcdoﬁé 02330,
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13. Case study (Compulsory question) :
WIOES 6'353‘5033"3 (B0 @’5) :
The following transactions have been wrongly recorded in the books
of Angadi Co. Ltd.
e30n@ 0. Q. PR, B3 BSNS :Suai plejat= '33 gTN SRORORCRNG.

a) Credit purchase of ¥ 10,000 not recorded in any book.
Spaielevsely 307 82, 10,000 23020850 cmﬁ\d\ BFBE SBROBDNY,

b) Salary paid ¥ 5,000 recorded two times in cash book.
Brd Betdrd oe. 5,000 ;3 SR PFTIG TR L0 WS wnIaTnt

c) An item of rent paid X 5,000 was posted to general expenses
account.
3r. 5,000 &R B, ADINCEY RRRT, SNV S303R T CORCRNG.

d) Arun's A/c which was to be debited for T 4,000 was credited for
¥ 4,000 similarly Akash’s A/c which was to be credited for ¥ 4,000
was debited for ¥ 4,000.

33093 23R TR, 4,000 DoF TVRTT wied Se. 4,000 W
SPERAG. S 0eS0IRN WESS oodn Ok, 4,000 wO SRBR)TT
0T3O BR. 4,000 £2F TFSRNG.

e) Stationary ¥ 3,000 recorded in wage account. As you are being an
auditor of the company, you are required to identify the above, types

of errors and steps to be taken by you to prevent such errors.

m@d@ dwe. 3,000 wawéwo RS 253N, TDORINT. IR e%
.uaeixaecﬁ%z:’)oda STV, B8 daneﬁ TERT SRR CINT FFOD -mm%ocsa
RBo8%0 0B RN s ROLIDREDTHOS :%’rfcﬁaémj 35 5333'?9'&3
SP0.
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOV. 2018
INDIAN ECONOMY
Compulsory (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) All sub-questions should be answered at one
place continuously.
2) Quote facts and figures to support your answer.
3) Answer to all Sections should be written in the
same answer book.

SECTION - A

1. Answer any ten of the following questions in 2-3 sentences each.
(10x2=20)

PN OIRR)TOTTR o2 @%ﬁ@ﬁ, @éoﬁmodﬁg 2-3 m@ﬁ@’@q SUZORD.
a) What is under developed economy ?
Clo] @ZD%C% BSHFT wdas:v; NOTITE0 2
b) State the meaning of economic inequality.
BRFT WBDOBRCOIT LBTE TEPO.
c) Give the meaning of secondary sector.
@w@eodo TOOE BT QeBO.
d) Calculate NNP from the following data :

GNP = Rs. 80,000 Cr., Depreciation charge = Rs. 10,000 Cr.
NS €08 Ros3, MY BI00cs NNPo3O3) d50ess Sni.
2830 Do e0d ¢V3T = dw. 80,000 Cr., B89 %%, = Se. 10,000 Cr.

[P.T.O.
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e) Expand NITL.
NITI 2%0%0.

f) What is density of population ?
RITO0T,E DOTTED 9

g) Find out PCI.
NI = Rs. 1,00,000, Total population = 1000

30 wmoﬁoaﬁﬁg{ FOTBIEOD.
ca%ewo B0 = 8r. 1,00,000, e, 'css:o’oajé = 1000

h) What do you mean by rural migration ?
79,000¢£9 TOR DOTIBERD 9

() Who is the chairman of NITI Ayog ?
Qed 303nenss @csggdo C3RTY ?

J) Write the period of 12! Five Year Pian.
B BREIe WO T cdpessod BTOHEDTY WTCWO.

k) Mention any two institutional sources of finance to agriculture.
) BEITIRT CRPTTTR TR 088 MQJT{%‘»’&’% V0.

) Expand AGMARK.
AGMARK £%020.

SECTION - B

Answer any three of the following questions. (3x5=15)
BN 3T AT BINOR UZ020.

2. Is India a developing economy ? Discuss.
2300 20T BRR, DL BHFF wasm);oix ? 2337 0.

3. Explain the difficulties involved in the estimation of national income.
eplINee BT20DTI, BT BREITE, QT éfaocsdr{%f@ QWO
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4. Describe the various reasons for liberalisation in India.
RTITY, $VTT0FTEOT DT @dsamfs% wWe3ERO.

5. Is India over populated ? Give reasons.
WOTBR) WO BOF usxosjswa Uaa&;aie ? adme;s% SP0.

6. Explain the problems of agricultural marketing.
TN 309005 0D 0 [ PR D[ORD.

. 7. What are the major objectives of five year plans in India ?
IOTST TWOWToAFT O3RenIng 33,3008 emc% CBNTIR)) ?

SECTION -C

Answer any three of the following questions. Question No. 13 is
compulsory. (3x15=45)
FINT 3BT =RDH BINOR UZ00. BB R0s3, 13 eplebelpiad

8. What is economic reforms ? Explain its effects on Indian economy.
BHFT FOTITBNTY Q0TTCTD 9 TTST SHFF 3,53 Qja D003 wmT
w@‘DEﬁJﬁ%”RﬁD WEOD.

9. Define national income. Explain its different concepts and uses.
craweojo GTOOIBRY ;09N ATV DG TORTSATTY B0
mwoifaeﬁn’eﬁw QF|OD.

10. Write a note on :
a) Occupational structure in India.

b) Density of population in India.
QARG 0eS £330 €3 2T

a) PITETY, T 8T/T T3,

D) T80 w0033,

11. Examine the objectives and achievements of 11t five year plan in India.
WTITY, TR 0T WO S cdpexFod T TN 03 TSN,
w@@ﬁw@
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12. Describe the causes for low agriculture productivity in India.
WRTITY, B & VBT BRFECVTOYTIE ToTCHNYEY Bedrao.

13. Case Let.

India’s population has grown at the rate of 1.9 percent p.a. She is the
second largest country in terms of population next only to China. The
growth of population has slowed down the rise in per capita income.
Population policy has not curbed the growth. India continues to face
the problem of population. India has 2.5% of world’s land area and
15% of world’s population.

Questions :

1) Is population a deterrent to growth ?

2) What is the position of India in terms of population ?

3) Whether population policy curbed population growth ?

4) What proportion of world’s population lives in India ?

800 53,00

PUBE wTH03, 030 T Bedme 1.9 TUTE),  IFTIRGBHAS. e
WIS, U wWIF0aS 0D 2e now, CoF NG, WIS, WIS B
BRICDTYF 0TI BONAT. WEHOL; V0D wFKoaY, WD,
QWFORAY, TN LJo0T) zseﬁxosmé RO, odosgL QTOBTEN DTOORSE.
OB WNET 1R T, 33T Jedmo 2.5 02, 3030 2T BWITR033, 00 Bevteo
1565-:5% BROOT.

1) usxogjsojao BRFT WFTIAR s2oFmongodoe 2

2) wnés BWIF083,0309 4T z)‘%s C3TEHTIO ?

3) wH0aTy Ded wFRoss, WHBSHODT), F0N08, R[S, FBFO 0e 9
4) wnes WIS, 0 Jegr DTTT GPTBTY, z%eébﬁocs%d ?
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION,
NOVEMBER 2018
COMPUTER APPLICATIONS IN BUSINESS (Revised)

RDBMS and E-Business

“me:3 Hours]

!

Applications

[Max. Marks : 8¢

Instructions : 1 ) Answer all questions of all Sections, Subject to

internal choice.

2) Question No. 12 is compu’sory.

SECTION - A

. Answer any ten questions from the following. Each carries 2 marks.

a)
b)
c)
d)
e)
)
9)
h)
)
j)
k)
1)

What is Integration 2

What do you mean by Hyperlink ?
What is Network Model ?

Define Attributes.

What is Primary key ?

Expand DDL ang DCL.

What is the use of Alter Command ?
What do you mean by Direct Selling ?
What is Social Marketing ?

Mention the meaning of Smart Carg.

Write any two uses of Mobile Banking.

What is Cyber cash ?

(10x2=20)

[P.T.O
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SECTION - B

Answer any three of the following questions. (3x5=15)
Explain the uses of integration.

Describe the advantages of DBMS.

Explain the types of relationships.

Explain the DDL Commands.

Discuss the Benefits of E-Business.

Explain the Mobile Banking Services.

SECTION-C

N O oA~

Answer any three questions including Question No. 12, which is compulsory.
(3)(1 5:45:

8. Explain the methods of integrating MS-Word documents and MS-Powerpoint
files in MS-Excel.

9. Explain different data Models.
10. What is Direct Marketing ? Explain the different tools of Direct Marketing.
11. How do you will strengthen the customer relationship ? Explain in detail.

12. Create a table “Employee” in SQL with fields Emp_id, Emp_name,
Basic, HRA, DA, IT, PF, Gross_pay, Tot_deductions, Net_pay. And
perform the queries :

a) Add five records in employee.

b) Calculate HRA = 18%, DA = 20%, IT = 10%, PF = 5%,
Total_deductions, Gross_pay, Net_pay.

c) Display all records of “employee”.
d) Display Emp_name, Gross_pay whose Net_pay > 25,000.
e) Delete record no. 4.

13. Write a short note on any three of the following : (3x5=1:
a) Any five object types in MS-Powerpoint.

) Merits and demerits of RDBMS.

) Logical functions in SQL.

) Benefits of e-commerce.

e) Advantages of Debit card.

b
c
d
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2018
Paper -1 : INCOME TAX LAW AND PRACTICE - | (Revised)

Time : 3 Hours] [Max. Marks - 80

Instructions : 1 ) Answerall the questions with strict observation
of the inner choice in each Section.
2) Use of simple calculator is allowed.
3) Question No. 13 case study js compulsory.
4) Give working notes wherever jt Is necessary.

SECTION - A (10x2=20)
1. Answer any ten of the following questions -

a) i) When the income tax was levied in India for the first time ?

1)in 1961 2) in 1886
3)in 1918 4) in 1860
ii) Income tax is
1) a direct tax 2) an indirect tax
3) business tax 4) none of these

b) What is assessment ?

¢) Whois “ordinarily resident” individual in India ?

d) What do you mean by perquisites ?

e) Whois a Specified employee ?

f) State the provisions of Income Tax Act relating to employer’s
contribution to employee’s RPF ang interest credited to RPF.

[P.T.O.
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g) How do you treat “unrealised rent” in computing income from house
property ?

h) State the provisions of Income Tax Act relating to municipal taxes
in computing income from house property.

i) State any four expanses which are disallowed in computing income
- from business.

j) How do you treat the following expanses in computing the income
from business ?

i) Provision for doubtful debts.

ii) Bad debts recovered (previously disallowed).
k) State any two professional receipts of a medical practitioner.
[) What do you mean by depreciation ?

SECTION -B
Answer any three of the following questions : (3x5=15)
2. Ascertain the residential status of the assessees in the following cases

for the assessment year 2018-19.

a) Mr. Arun is a citizen of India. He left for France on 15" May, 2017
and could not return to India till the end of the financial year 2017-18.

b) Mrs. Leena left for Germany on 10" March, 2016 after having lived
in India for 20 years. She returned to India on 15" September 2017.
3. State the following statements are true or false.
a) The income earned from illegal business is also taxable.

b) Income from house property in Pakistan is taxable in case
“non-resident” individual in India.

¢) Income tax paid is an allowable expanses in computing “income
from business”.
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d) Penalty paid to the customs authority for importing prohibited goods
is disallowable expanses in computing “income from business”.

e) Employer’s contribution to employee’s recognised provident fund
is tax free up to 15% of salary.

. From the following information compute the taxable house rent
allowance for the assessment year 2018-19.

Particulars Dr. Jayanna Ravishankar
. Davangere Delhi

Rs. Rs.
Basic salary per month 20,000 40,000
Dearness allowance per month
(50% enters into retirement benefit) 10,000 20,000
Bonus per annum 15,000 10,000
Commission (1% on sales achieved) 25,000 -
House rent allowance per month 5,000 7,500
Actual rent paid per month 8,000 6,000

. Smt. Renuka gives the following particulars relating to house property
for the previous year 2017-18.

Rs.
Municipal value 82,000
Fair rental value 80,000
Actual rent (Rs. 7,000 p.m.) 84,000
Municipal tax paid 8,000
Repairs to the house 10,000

The house remained vacant for one month during the previous year.
Compute the “income from house property” for the assessment year
2018-19.




I ———————..

1356 —E02-VSC-R-N-18 - OO

6. From the following information of a Chartered Accountant, compute taxable
income from profession for the assessment year 2018-19.

Receipts Amt. Payments Amt.
Rs. Rs.

To Balance b/d 10,000 By Office rent 12,500
" Consultation fee 1,25,000 " Stipend to article clerks 10,000
" Gifts from clients 10,000 " Professional books 9,000
" Audit fees 11,000 " Donations 2,000
" Gift from father-in-law 15,000 " Professional tax 1,000
" Purchase of car 87,000

" Balance c/d 49,500

1,71,000 1,71,000

Allow depreciation on books at 40%.
7. Sri Srinath is a Govt. employee. The particulars of his salary income
for the previous year 2017-18 are as follows :
a) Basic salary Rs. 15,000 p.m.
b) D.A. (enters into retirement benefit) Rs. 5,000 p.m.
c) City compensatory allowance Rs. 1,000 p.m.
d) Bonus Rs. 8,000 p.a.
e) Entertainment allowance Rs. 2,000 p.m.
f) He paid Rs. 200 p.m. as professional tax.

Compute his income from salary for the assessment year 2018-19.
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SECTION -C

Answer any three of the following. Question No. 13 is compuisory.
Each question carries 15 marks. (3x15=45)

8. Following are the particulars of income of Mr. Harsha for the previous year
ending on 31-3-2018.

a)

b)

c)

d)

)

¢)

h)

)

Profits from business in Raichur, the business being controlied
from America Rs. 1,50,000.

Salary received in India for the services rendered in France
Rs. 80,000.

Profits from business in Sri Lanka, the business being controlled
from Germany Rs. 2,50,000 of which Rs. 1,00,000 received in India.

Income from investments in England Rs. 25,000.

Income from house property in Bangaluru Rs. 75,000. (Rs. 50,000
received in Canada and spent there)

Interest received from a non-resident against the loan given to
him to run a business in Hubli Rs, 25,000.

Salary received in Germany for the services rendered in Indian
embassy of Germany Rs. 1 ,00,000.

Dividend from JSW Ltd., Rs. 10,000.

Past untaxed income earned in Singapur brought to India during
the previous year Rs. 5,00,000.

Agriculture income from land situated in Bangladesh Rs. 50,000
deposited in a bank there,
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k) Profit on sale of building in South Africa Rs. 1,50,000 of which
50% received in India.

Compute the gross total income of Mr. Harsha for the assessment
year 2018-19, if he is

i) Ordinarily Resident in India.
i) Not Ordinarily Resident in India.
iii) Non-Resident.
9. Mrs. Triveni Gupta working in Tata Ltd., gives the following information
for the previous year 2017-18.
a) Basic salary Rs. 10,000 p.m.

b) Dearness allowance Rs. 8,000 p.m. (50% enters into retirement
benefit)

Project allowance Rs. 1,000 p.m.

o O
~

City compensatory allowance Rs. 500 p.m.
Bonus Rs. 20,000 p.a.
Entertainment allowance Rs. 1,000 p.m.

()
D A

Children education allowance Rs. 200 p.m. per child for two
children.

(o]

h) She has been provided with the rent free accommodation in
Bengaluru for which the employer pays the rent of Rs. 8,000 p.m.

The furniture provided in the house is Rs. 75,000.

i) The company has provided a telephone at her residence and the
expenses incurred by the employer is Rs. 10,000 p.a.

j) She is allowed to use big motor car both for official and private
purpose. All the expenses including driver salary are paid by the
employer.

k) Sheis contributing 15% of salary towards the recognised provident
fund with equal contribution from the employer.

) Interest credited to the above said fund at the rate of 12%
amounted to Rs. 12,000.
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m) Insurance premium on her life Rs. 10,000 paid by the employer.

n) Sheis also provided with watchman and a sweeper and the salary
Rs. 500 p.m. to watchman and Rs. 400 p.m. to sweeper are paid
by the employer.

0) She paid Rs. 300 p.m. as professional tax.
Compute her income from salary for the assessment year 2018-19.

10. Shri Dinesh Kulkarni is the owner of three houses. The particulars are

as under
Particulars House A House B House C
Rs. Rs. Rs.
Fair rental value 2,40,000 1,80,000 2,00,000
Municipal value 2,00,000 1,60,000 2,20,000
Use of the house . SOP Let out Let out
Standard rent - 1,40,000 2,40,000
Repairs 10,000 20,000 15,000
Interest on loan :
i) For construction - 50,000 -
ii) For daughter’s education 50,000 - -
iii) For repairs 10,000 - 20,000
Rent per month - 15,000 20,000
Unrealised rent - 10,000 25,000
Vacant period - 2 months -

Municipal tax is 10% of the municipal value. Municipal tax of house ‘A’ was
not paid upto 31-3-2018. Municipal tax of house ‘B’ was paid by the owner
where as the municipal tax of house ‘C’ was paid by tenant.

Compute income from house property of Shri Dinesh Kulkarni for the
assessment year 2018-19.
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11. Mr. Raghu running a commission agency business, has prepared the
following profit and loss account for the year ended 31-3-2018.

Profit and Loss Account for the year ended 31-3-2018

Particulars

To Salary

Rent

House hold expenses

Legal expenses

Income tax

Discount allowed

Bad debts

Advertisement

Donations to PM'’s
relief fund

Office expenses

Interest on capital

Reserve for bad debts

Life insurance premium

Postage and telegrams

Depreciation

Audit fees

Amt. Particulars Amt.
Rs. Rs.
1,00,000 By Gross Profit 3,00,000
20,000 " Bad debts recovered 15,000
30,000 " Dividend on shares 10,000
10,000 " Rent of building 50,000
15,000 " Interest on debentures 15,000
5,000 " Long term capital gain 50,000
10,000
8,000
12,000
15,000
12,000
8,000
5,000
1,000
20,000

10,000
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" Goods and service tax 5,000
" Fire insurance premium 4,000
" Net profit 1,50,000
4,40,000 4,40,000
Additional information :
1) Salary includes Rs. 15,000 paid to the workers empioyed at home.

2) Allowable depreciation is Rs. 18,000.

3) Office expanses include Rs. 5,000 as contribution to staff welfare
fund.

4) Out of bad debts recovered only Rs. 8,000 were allowed as
deduction earlier.

5) Legal expensesinclude Rs. 3,000 paid to the lawyer in connection
with personal case.

From the following particulars of assets of XYZ Ltd. Calculate the
depreciation allowable for the A.Y. 2018-19 and show the W.D.V. as

on 31-3-2018.
Particulars of assets W.D.V.on 1-4-2017  Rate of Depreciation

Building X and Y Rs. 4,00,000 10%
Machinery P and Q Rs. 2,00,000 15%
Furniture A and B Rs. 1,00,000 10%

The company purchased the following assets during the year 2017-18.
Building ‘Z’ on 1-9-2017 for Rs. 1,50,000.
Machinery ‘R’ on 1-11-2017 for Rs. 1,00,000.
Furniture ‘C’ on 1-2-2018 for Rs. 50,000.
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The company also sold the following assets during the year 2017-18,
Building X sold for Rs, 2,00,000
Machinery Q sold for Rs. 50,000
Furniture A sold for Rs, 20,000
The company received the subsidy from the Govt. to purchase the
Machinery ‘R’ Rs. 50,000.
'13. Compulsory : Case Study :

Mr.Ramlalan employee workingin Bengaluru. The following particulars
are available regarding his salary income for the year ending on
31-3-2018.

a) Basic salary Rs. 20,000 p.m.

b) Dearness allowance Rs. 10,000 p.m. (enters into retirement benefit)
c) City compensatory allowance Rs. 2,000 p.m.

d) Bonus Rs. 5,000 p.a.

e) He retired from service on 31-12-2017 after completing 32 years
and 8 months of service.

f) His pension was fixed at Rs. 8,000 p.m. after commutation of 2/3
of his pension and received Rs. 7,20,000 as commuted value of
pension.

g) He also receives gratuity of Rs. 8,00,000 which is covered under
payment of Gratuity Act, 1972.

Compute his income from salary for the assessment year
2018-19, if he is

i) A government employee.

i) A employee working in a private sector.
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" AgD R IR 5,000

" dod QIw Bod 4,000
" AR o 1,50,000

4,40,000 4,40,000
@asgswa &S :

1) B35 . 15,000 SR, Je08 IR FoTmIeR TDDERTITYHTID
BRATHTT.

2) @RS Z3FP 3. 18,000.

3) se3ed DFNPY. de. 5,000 AWO0 éer%sa VDY BB@NTO)TH
BRI,

4) S[RET PTOTD ONYY_ 3R, 8,000 %083 3a3Re05e0
@&&ém’g&i&_éd

5) 35023 aaziarﬁ%fq dn. 3,000 71@553{ f-g;oé a’ﬁdwg ROWODATIOZ
D CVTANDR TTERDAT,
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2018
Paper - Il : ACCOUNTING THEORY (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) All Sections are compulsory.
2) Question No. 13 is compulsory.

SECTION - A
1. Answer any ten of the following :
a) What is Accounting Practice ?
b) State any two objectives of Accounting.
c) What is Measurement theory ?
d) What do you mean by accounting environment ?
e) What is Authoritarian Approach ?
f) What are the steps in inductive approach ?
g) What do you mean by Accounting Postulate ?
h) What is dual aspect principle ?
i) What is current assets ?
j) What is capital expenditure ?
k) What do you mean by Accounting Standards ?

[} Expand the following :
i) GAAP
i) IFRS. (10x2=20)

[P.T.O.
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SECTION-B

Answer any three of the following :
2. Explain briefly importance of Accounting Theory.
3. Explain ethical approach in brief.

4. Mr. Ashokinvested Rs. 20,00,000in a business by which he purchased
Plant and machinery Rs. 10,00,000, Furniture Rs. 50,000, Deposited
in to Bank Rs. 3,50,000 and bought Stock Rs. 6,00,000. He also
purchased goods on credit from Mr. Vijaya worth Rs. 2,00,000.

Prepare Balance Sheet by applying dual aspect concept.
5. Explain the types of expenditure.
6. State the needs of accounting standard.

7. Calculate the value of stock at the end of financial year 31-3-2017

from the following given data :

Materiais Cost NRV
Rs. Rs.
A 20,000 30,000
B 48,000 40,000
C 84,000 1,00,000
D 60,000 72,000
E 96,000 76,000 (3x5=15)
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SECTION-C

Question 13 is compulsory and answer any two from the remaining.
8. Define Accounting Theory. Explain its needs.
9. Explain principles of cost, matching and full disclosure.

10.*Explain different methods of measurement of assets.

11. Explain various advantages of accounting standards.

12. A) Calculate the profit by matching principle from the following
information :

a) Financial year : 01-4-2017 to 31-3-2018.

b) Capital introduced in business : Rs. 3,20,000.

c) Purchase of goods for the year 2017-18 : 8000 units at Rs. 50 each.
d) Sale of goods for the year 2017-18 : 6000 units at Rs. 90 each.

e) Salary paid to Staff : 5000 pm for 11 months

f) Miscellaneous income received : Rs. 2,000.

g) Rent for the building paid : Rs. 6,000 pm for 11 months.

h) Paid to sundry suppliers for purchase : Rs. 2,40,000.

i) Received cash on account of sales : Rs. 3,60,000.

B) Find out the owners shares from the given balance sheet under

proprietary theory.

Balance Sheet ‘
Liabilities Amt. (Rs.) Assets Amt. (Rs.)
Capital 16,00,000 Fixed Assets :

Reserves 8,00,000 Plant and Machinery 14,00,000

[
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P and L A/c 6,00,000 Land and Buildings <7 22.000
Creditors 10,00,000 Current Assets :

Bills Payable 4,00,000 Stock ~.30.000

Debtors = 2C.000

Bills receivable 2.22.000

Cash in hand 2.24.000

44,00,000 44.00.000

Case study (compulsory) :

13. Surekha manufacturing company gives the following inforzazcn.
Prepare the Stores Ledger according to FIFO method.
01-08-2018 Purchased 8000 units at Rs. 15 each
03-08-2018 Issued 2000 units
06-08-2018 Issued 4000 units
10-08-2018 Purchased 8000 units at Rs. 16 each
12-08-2018  Issued 6000 units
18-08-2018 Purchased 8000 units at Rs. 18 each
22-08-2018  Issued 4000 units
26-08-2018 Issued 6000 units
30-08-2018 Purchased 10000 units at Rs. 20 each
31-08-2018 Issued 6000 units

You are required to answer the following :

a) What is the value of closing inventory according to periodic
inventory system ?

b) What will be the effect on closing inventory under FIFO ?
c) When company wants to satisfy the share holders ? Will it be
advisable to continue FIFO ? Why ? (3%x15=45)
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12. A)

TR edEOD BT STRTE Hoedd 3 FINT B&S0000T SR e:azp’sﬁsﬁgl
FOTEHBOLD

a) TOOTRT TRF - 01-4-2017 003 31-3-2018.

) FITTTY_ BRBNT wommed : 3n. 3,20,000.

) 2017-18 dQ ﬁ:’gﬁ%ﬁ%&@c@cﬁ%: 8000 OO“JJ@@S%T{@J dr. SO/QbJSDéA%ﬁ%.
) 2017-18 B9 TRRI 905 1 6000 CRVRLTID T, 90/ 0308370,
) 11 &one 2200 Gelante} &Qéig‘.ﬁ% . Or. 5000 Z& gontert

f) w38 smmong : 3. 2,000.

g) 11 Sone B3R wolrt TR 3. 6,000 T8 ontert.

h) =5 ZpFacson Qs 3ncd 1 dr. 2,40,000.

) NOMBNPT THRET BRTLIDOT ol BE3 : 3. 3,60,000.

Q o O

M

ounystal mﬁeﬁ;d ma@oéd T8 B3 TINS 253033 23 00T ST me):nq
Fom8 B0,
SR YT
DRI SR (Tn.) sankd 33 (8n.)
WOBTRE 16,00,000 %Ua_ﬁgﬁ%b ;
O DGR 8,00,000 3 %) c3o8eReTes 14,00,000
@nn] 533:2 a’% o3 6,00,000 PR da?’»_% 5%5571%33 10,00,000
ROMMTT 10,00,000 3@ eaneh:
ERTeEE S0 4,00,000 T 7,00,000
OIS (abesrieo) 6,00,000
N AN DIA MO 5,00,000
3,009 I 2,00,000
44,00,000 44,00,000
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FIFTH SEMESTER B.COM. DEGREE EXAMINATION, NOVEMBER 2018
FINANCIAL SERVICES (Revised)

Time : 3 Hours] [Max. Marks : 80

Instructions : 1) All Sections are compulsory.
2) Answer the questions according to internal choice.
3) Use of simple calculator is allowed.
4) Question 13 (case study) is compulsory.

SECTION - A

1. Answer any ten of the following : (10x2=20)

39N 35T =2 B3 19N ¢uZoR0

a) Define Financial Services.
TEITOAT eI 2T 359,35, BRAD.

b) What are fund based activities ?
QO BH0T 30T NF T3 ?

c) What is meant by loan syndication ?
TOOT BRI TUWES 20386 2

d) What is meant by Mutual Fund ?
‘TTRT G’ 0TTEI 2

e) Expand N.S.D.L. and C.D.S.L.
@302 :N.8.D.L. 302 C.D.S.L.

f) Define operating lease.
To0IRFEE ecdond 359,85, DeRD.

g) What is meant by Depository Services ?
BEPWLID BeSnsh oTded 2

h) What is online trading ?
Clerctoganld) 3, 2TIT DOTITED ?

i) Who is factor ?
méﬁwcs Q0TIT A3RTD ?

i) What is rematerialisation ?
BT eTT TS 0TTed 2

k) What is close ended scheme ?
BREIER BRUFRWT c3Retd D0B3eRd 2

l) What is credit rating ?

T3S TeEF PO 0TTe ? [P.T.O.
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SECTION - B

Answer any three of the following : | (3x5=15)
TINT CBRJYTTTR SR B3 NeR w00 :

2. Explain any two fund based financial services.
OORRYTIC DT VPCIRTROZ TBEIFTRO m’eaﬂﬁ%&q DOV,

3. State any five differences between financial lease and operating lease.
TEFTVRD 73068 TO) TOIRE YT 71ee3neg SEODT 03RF)TTETe 0T ag@zsmvmq
WTCAD.

4. Write a note on C.D.S.L.
R).8.0%°. 08¢, BODZTON £33 ¢3 WwBON0D.

5. Discuss different types of lease.

1es3od ARF T TOONTTY, WwFRD.
6. Distinguish between factoring and forfeiting.

T2, EDOTT SO e FHeLon' AN SEORT 3, TANTIY WBCWD.
7. Write the functions of depository participant.

RTPe33D TONCTOTI FIORFNTIY wW30WD.

SECTION-C

Answer any three of the following. Question No. 13 is compulsory
(case study). (3x15=45)
FINT WeFoT R a;%rf@r? eVZ ORD. @z@t Ros3; 13 #w%wamhdogd
(3360 553, 00R).
8. Explain the characteristics of financial services.

TEITORT BeRdne @isamag* NWOXD.

9. What is meant by dematerialisation ? Describe its merits and demerits.
252386 DOTBER 9 e FPEeTTET e3TBROI AP wm&ﬁr&&éﬁ%& 3OO,

10. What is lease ? Explain the advantages of leasing to the lessee.
Reed Q0B ? ReedmosR essod BIBROINTIY, DTORD.

11. Discuss the advantages and disadvantages of credit rating.
TET 3,003e800T BTVBRVE Tonte WTIROBROINTSY, IFRD.
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12. M/s. Neha Co. Ltd. is interested in purchasing an asset costing

Rs. 10,00,000. It has two choices.

i) Toborrowthe amountat20% p.a. interest repayable in 5 equal installments.
or

ii) To take asset on lease for a period of 5 years. The rent at the
end of each year is Rs. 2,40,000. The company is the tax bracket of
50% p.a and follows a depreciation on reducing balance method at
20%. The asset will have salvage value of Rs. 3,50,000, at the end of
five years.

" The company is asking your advise whether buy the asset or take an
asset on lease ?
Note :
1) The present value of Re. 1 at 10% discount factor is as follows :
1styear 0.909 2nd year 0.826
3 year 0.751 4t year 0.683 :
5t year 0.621 "

2) The present value and annuity of Re. 1 at 20% is Rs. 2.9906
for 51 year and @ 10% is Rs. 3. 791.
). Jemo Fo. ©. vrd de. 10,00,000 IF,T B2 030, DOOROD
8R0IS0NYT. BT, QT eﬁoﬁ%ﬁ@ﬁ.
i) B3Beasy Be. 20 303 T® T TR 5 0B BOBNEE) Bo0LTONVIITD.
o)
if) ez 000=Reedosd BT S SRFNSTIR TECIORTO. BTN T8 TRFEG,
TORSTOS LRI Te. 2,40,000 da%mgd. BoZ0O0 Je. 50 T 301N
LIBET. 53 gomog, Be. 200K, RIFYORTY, R OD VITOD S
a-:fcgpéodaoé SRBIT3. S0 SOOHT) FONT T0BT BT GVPFOD
PR 5 BRET F033 SR. 3,50,000 BRBCSWIIT0.
83 BOQT HS030Y, FOTIID B3O, DoenRITe BT reedron
BBoLIEBe? HOWITIT WY TOT Q0.
BRWS :
1) 3e. 10 C 3033 B3EoS Tw. 1 T AT JTY SR, B3 FENTOET
135¢ SR 0.909 235¢ dxRF 0.826
33 IRE 0.751 43 =_RE 0.683
55¢ dRE 0.621

2) Be. 20T 3BT TTEOZ TR. 1 ok 8 SWODT BT 5 BHRFNY 02T
gn. 2.9906 w33 Se. 10 303 Sw. 3.791 |TITT.
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13. A) ABC Electrical Co. Ltd. is manufacturing electronics goods and
supplies the product to various wholesalers and retailers. But the
company found maximum dues from the purchasers. Hence, the
company is thinking about whether to create a credit collection
department or to go for making agreement with factors.

You are requested to advice the ABC company whether to go for
factoring or not. If yes explain the advantages of factoring.

B) Mr. BES is having Rs. 10,00,000. He is thinking about investing
the money in mutual fund scheme. As a financial expert advice
Mr. BES, how the mutual fund scheme is better than investing in
banking companies and write the benefit of mutual funds.

C) Mr. Pavan has purchased many company shares before introducing
Demat Accounting System. But now Mr. Pavan wants to open the
Demat Account to make the daily transactions. As a depository
participant advice the investor regarding process of opening of
demat account.

A) ABC 28§3e 302 20008 2353 RPT SRONYR) eveo 0, wiies
73&3% %mdx‘éaﬁ DB STOBY mémdmzpaﬁ emczp BTO0T 003 TRov
BRBOIMBE. 5338 232N ABC 3033718 0038036503 2708 2o s T, R
TR ONTOZT. 353003 ABC 3020330 moe) Sxnd PN, Tedxeiedoe

Q

9T $,30dR0OR WBOT maa&’mgﬁeﬁrae WO RIDTTO; o938, BBO0T
- Q6D B2y 823 00N T, 300N wc%%ws% A eB0RLIeBRe BT edIpe
DOLOTT, PR T, 800N m@a TOTTT RT3 eﬁmm@ém@‘ QDBOXO.

B) de . 9. 3%, 90 33T Te. 10,00,000 28033, d 3a3) Beasy,
TOTROF VRODNY BrmEen &mbmgw%d. ﬁfcgpod Q) W) YOO
Brad RNODBMOTTIA, mdz);bﬁ VHODY o—smmq BRI ma,omw;
mm-@waﬁos xent &?% GO PDOUTITY, P20 Tone TTNOT Y
cdpexRoDATOE ODBRROINT), @O,

C) ¥ ¢ BT 9309, 938 5003 BeONIY et Peesieo I8, TT S0
HIOUHCORYTES BT DOOUNT]S. WTS 8,0 DI BT I3
e B, TBIT, 54 PéesSts (Demat) SR SRBO BT,
SBTOOT TRy %) MOMD,®F LNTTTHA (Depository participant) de

WBD* 3O 9 R8esTed 283 o:b?iz( 3dodos amsmf@( QTORD.




